METRAKION

Quality is the foundation, service is king

Hardware preferred only Huayang
. ¢\ Y%\

Annual
Edition.



Professional







Connectors
MOD1 101-138

Flanges
MOD2 201-215

Handrail brackets
MOD3 301-311

Wall flanges
MOD4 401

Adjustable handrail brackets
MOD5 501-512

MOD6 601-612

End caps
MOD7 701-707

J
ﬁ? Adjustable Connectors

S s Footrail brackets
MOD8 801-811

= Handrail bracktets
L MOD9  901-909

= Adjustable handrail brackets
o MOD10 1001-1028

Baluster brrackets
MOD11 1101-1103

Glass clamps
MOD12 1200-1217




METRAKION



Connectors

MOD1 10




Handrail connector -MOD 1

Part No. Indicate

oo [ ] ]

‘ I— Surface Finish
Material

FittinW Pipeg
MOD No.

Eg. 101.038.304.S
101: MOD No.

138: FittnW Pipe®:38.1*1.5
304: Material 304 SS
S: Satin/M: Mirror

MOD 101

£

Mod-90°Sharp corner

304 Wall thickness: 1.5 Satin 316 Wall thickness:1.5 Satin
Art.No o) H w > Art.No o) H w S
101.138.304.S | 38.1*1.5 30 282¢g 2pcs 101.138.316.S | 38.1*1.5 30 282g 2pcs
101.150.304S | 50.8*1.5 | 35 4529 2pcs 101.150.316S | 50.8*1.5 | 35 452g 2pcs

304 Wall thickness: 2.0 Satin

316 Wall thickness: 2.0 Satin

ArtNo ® H w > ArtNo ® H w S
101.233.3045 [33.7°20 | 25 2289 | 2pcs 101.233.316S | 33720 | 25 2289 | 2pcs
1012383045 [381%20 | 3175 | 310g | 2pcs 101.238316S |38.1%20 | 3175 | 310g 2pcs
101.242.304.5 [424*20 | 30 3359 | 2pcs 101.242.316S | 424*20 | 30 3359 | 2pes
101.248.304.5 [483*20 | 35 4639 | 2pcs 101.2483165 | 48320 | 35 463g | 2pcs
101.250.304.5 [50.8+2.0 (3387 | 480g | 2pcs 101.250.3165 | 50.8+20 | 3387 | 480g | 2pcs

304 Wall thickness:2.6 Satin

316 Wall thickness:2.6 Satin

ArtNo o) H w > ArtNo o) H w S5
101.042.304S [424%26 | 30 3729 2pcs 101.042.316S |424*26 | 30 3729 2pcs
101.048.304S [48.3%26 | 35 507g 2pcs 101.048.316S [483*26 | 35 5079 2pcs




MOD 102

Mod-90°Round corner

hickness 1.5 Satin
@ H w >

316 Wall thickness:1.5 Satin
@ H w >

Art.No Art.No

102.138.304.5 |p38.1*15| 30 275¢g 2pcs 102.138.316.5 |p38.1*15| 30 2759 | 2pcs
102.142.304.5 |@424*15| 30 3029 2pcs 102.142.316.5 |@424*15| 30 3029 2pcs
102.150.304.5 |p50.8*1.5| 35 449g 2pcs 102.150.316.5 |p50.8*1.5| 35 449g 2pcs

304 Wall thickness:2.0 Satin 316 Wall thickness: 2.0 Satin

ArtNo P H w > ArtNo @ H w >
102.233.304S | 33720 | 25 223g 2pcs 102.233.3165 | 33.7*20 | 25 223g 2pcs
1022383045 |381*20 | 30 294g 2pcs 1022383165 | 38.1*20 | 30 294g 2pcs
102.242.304.5 |p424*20| 30 3269 | 2pcs 1022423165 | 424%2.0 | 30 3269 2pcs
102.248.304.5 |p48.3*20| 35 440g | 2pcs 102.248.316S | 483*20 | 35 4409 2pcs
102.250.304.5 |p50.8*2.0| 35 482g | 2pcs 102.250.316.5 | 50.8*2.0 | 35 482g 2pcs
102.260.304.5 |p60.3*2.0 40 6599 | 2pcs 102.260.316S | 60.3*2.0 | 40 6599 2pcs

304 Wall thickness: 2.6 Satin 316 Wallthickness: 2.6 Satin

ArtNo [0) H w S5 ArtNo o) H w S
102.042.304.S |42.4*2.6 30 361g 2pcs 102.042.316.S | 42.4*2.6 30 361g | 2pcs
102.048.304.S |48.3*2.6 35 4829 2pcs 102.048.316.S | 48.3*2.6 35 482g | 2pcs




Handrail connector-MoD 103 N

Part No. Indicate

w1 [ ] [

‘ I— Surface Finish
Material

FittinW Pipeg
MOD No.

Eg. 103.138.304.S

103: MOD No. 03/4: Corner type 138: FittnW Pipe®:38.1*1.5
304: Material 304 SS S: Satin/M: Mirror

316 Wall thickness: 1.5 Satin

304 Wall thickness: 1.5 Satin

ArtNo o) H w Ss! ArtNo o) H w >
103.138.304.S |38.1*1.5 30 251g 2pcs 103.138.316.S |38.1*1.5 30 251g 2pcs
103.150.304.S |50.8*1.5 35 392g 2pcs 103.150.316.S |50.8*1.5 35 392¢g 2pcs

316 Wall thickness2.0 Satin

304 Wall thickness: 2.0 Satin

Art.No P H w S5 Art.No (0) H w S
103.233.304.S |33.7*20| 25 1999 | 2pcs 103.233.316.S |33.7¥20| 25 1999 2pcs
103.238.304.S |¢38.1*2.0 3175 2769 | 2pcs 103.238.316.S |38.1*20| 3175| 2769 2pcs
103.242.304.S |@424*20| 30 2899 | 2pcs 103.242.316.S |@424*20( 30 2899 2pcs
103.248.304.S |p483*20 35 390g | 2pcs 103.248.316.S |p483*20| 35 3909 2pcs
103.250.304.S |50.8*2.0| 33.87 4129 | 2pcs 103.250.316.S |50.8*2.0| 33.87| 4129 2pcs

304 Wall thickness2.6 Satin 316 Wall thickness2.6 Satin

ArtNo o) H w > ArtNo [0) H w >
103.042.304S |¢p424*26| 30 311g 2pcs 103.042.316S |@424*2.6| 30 311g 2pcs
103.048.304S |p48.3*26| 35 4239 2pcs 103.248.316S |p48.3*2.6| 35 4239 2pcs




Handrail connector-MOD 104

==
%)

304 Wall thickness: 2.6 Satin 316 Wallthickness: 2.6 Satin
Art.No Art.No ® H w >
104.038.304.5 |p38.1*2.6| 50 3159 | 2pcs 104.038.316.5 |p38.1*2.6| 50 3159 | 2pcs
104.050.304.5 |50.8+2.6| 75 5989 | 2pcs 104.050.316.5 |p50.8+2.6] 75 598g | 2pcs

Handrail connector-MOD 105

g

304 Wall thickness: 2.0 Satin Wall thickness: 2.0 Satin

Art.No Art.No
105.233.304S | @337 50 84g 2pcs 105.233.316.S | @33.7 50 84g 2pcs
105.242.304.S | @424 65 1379 2pcs 105.242.316S | @424 65 137g 2pcs
105.248.304.S | @48.3 75 182g 2pcs 105.248.316.S | @48.3 182g 2pcs




Handrail connector -MOD 106

Part No. Indicate

[ ] [ [ \
‘ I— Surface Finish
Material

FittinW Pipeg
MOD No.

Eg. 106.233.304.S
106: MOD No. *233: FittnW Pipe®:33.7%2.0  304: Material 304 SS S: Satin/M: Mirror

304 Wall thickness2.0 316 Wall thickness2.0 Satin
ArtNo @ H w > ArtNo o) H w >
106.233.304.5 |p33.7*20| 25 234g | 2pcs 106.233.316S |p33.720| 25 234g | 2pcs
106.238.304.5 |p38.1*2.0| 3175 | 309g 2pcs 106.238.316.S |¢38.1*2.0| 31.75 3099 | 2pcs
106.242.304.5 |p424*2.0| 30 335g 2pcs 106.242.316S |p424*20| 30 3359 | 2pcs
106.248.304.5 |p48.3*2.0| 35 452g 2pcs 106.248.316.S |p48.3*2.0| 35 4529 | 2pcs
106.250.304.5 |p50.8*2.0| 33.87 | 4699 2pcs 106.250.316.5 |p50.8*2.0| 33.87 | 469g | 2pcs

304 Wall thickness2.6 Satin 316 Wall thickness2.6 Satin
ArtNo ® H w > ArtNo P H w >
106.025.304.5 |p254*2.6| 25 127g | 2pcs 106.025.316.5 |p254*2.6| 25 127g | 2pcs
106.042.304.5 |p424*26| 30 363g | 2pcs 106.042.316.5 |p424*26| 30 363g | 2pcs
106.048.304.5 |p48.3*26| 35 510g 2pcs 106.048.316.5 |p48.3*26| 35 510g 2pcs




Handrail connector-MOD 107

e

Mod-145°

304 Wall thickness2.0 Satin 316 Wall thickness2.0 Satin
ArtNo ® H w > ArtNo ® H w >

107.238.304.S |¢38.1*2.0| 3175 3099 2pcs 107.238.316.S |¢38.1*2.0| 31.75 3099 2pcs

Handrail connector-MOD 108

Mod-150°

304 Wall thickness2.6 Satin 316 Wall thickness2.6 Satin

ArtNo @ H w > ArtNo P H w >
108.038.304S |(38.1*26| 40 353g | 2pcs 108.038.316S |(38.1*2.6 40 353g | 2pcs




Handrail connector -MOD 109

Part No. Indicate

w [ [C] [C]

=

Eg. 109.112.304.S
109: MOD No.  112: FittnW Pipe ®:12.0*1

Surface Finish
Material

FittinW Pipeg/DIM
MOD No.

Mod-180°

304: Material 304 SS S: Satin/M: Mirror

304 Wall thickness1.0 Satin

316 Wall thickness1.0 Satin

ArtNo ® L w > ArtNo ® L w >
109.112.304S |¢12.0*1 45 11g 2pcs 109.112.316S | ¢12.0*1 45 11g 2pcs
109.114.304S |¢14.0*1 45 14g 2pcs 109.114.316S | ¢14.0*1 45 l4g 2pcs
109.116.304S |¢pl6.0*1 46 23g 2pcs 109.116.316S | ¢16.0*1 46 23g 2pcs

304 Wall thickness1.5 Satin 316 Wall thicknessl1.5 Satin

ArtNo ® L w > ArtNo ® L w >
109.138.304.5 |@38.1*15| 66 114g | 2pcs 109.138.3165 |@38.1*1L5| 66 114g | 2pcs
109.142.304.5 |p424*15| 66 1299 | 2pcs 109.142.316S |424*15| 66 129g | 2pcs
109.150.304.S |p50.8*1.5| 46 180g 2pcs 109.150.316.S |p50.8*1.5| 46 180g | 2pcs

304 Wall thickness2.0 316 Wall thickness2.0 Satin

Art.No ® L w (Ss! ArtNo ® L w Ss
109.233.304S |p33.7*20| 66 98g 2pcs 109.233.316S |p33.7*20| 66 98g 2pcs
109.238.3045 [p381*20| 66 | 113g | 2pcs 109.238.3165 |38.1*20| 66 113g | 2pcs
109.242.304S |p424*20| 66 128g 2pcs 109.242.316S |p424*20| 66 128¢g 2pcs
109.248.304S |p48.3*20| 76 170g 2pcs 109.248.316S |p48.3*20| 76 170g 2pcs
109.250.3045 [p50.8*20| 76 | 180g | 2pcs 109.250.3165 |50.8*20| 76 180g | 2pcs
109.260.304.S |p60.3*2.0| 86 2459 2pcs 109.260.316.S |p60.3*2.0| 86 245g 2pcs

304 Wall thickness2.6 Satin 316 Wall thickness2.6 Satin

Art.No (0] L W @ Art.No ® L w @
109.042.304S |p42.4*2.6| 66 1289 | 2pcs 109.042.316S |p424*26| 66 1289 | 2pcs
109.048.304S |p48.3*26| 76 169g 2pcs 109.048.316.S |p48.3*26| 76 1699 2pcs




40
b (==

304 Wall thicknessl.5 Satin 316 Wall thickness1.5 Satin

Art.No ArtNo
109.141.304.S |40*10*1.5| 64 18g 2pcs 109.141.316.S |40*10*1.5| 64 18g 2pcs

o 40

304 Wall thickness2.0 Satin Wall thickness2.0 Satin

Art.No Art.No

109.240.304.S |40*40*2.0| 54 120g | 2pcs 109.240.316.S (40*40*2.0| 54 1209 2pcs




Connector-MOD 110
Part No. Indicate

1011 | | | | | |

‘ I— Surface Finish
Material

FittinW Pipeg/DIM
MOD No.

Eg. 110.233.304.5

110: MOD No.

233: FittnW Pipe 9:33.7*2.0
304: M aterial 304 SS

S: Satin/M: Mirror

Q

T
I

304 Wall thickness: 2.0 Satin Wall thickness: 2.0 Satin

ArtNo Art.No
110.233.304S |33.7*20| 70 1079 2pcs 110.233.316S |33.7*20| 70 1079 2pcs
110.242.304S |@424*20| 70 1389 2pcs 110.242.316S |@424*20| 70 1389 2pcs
110.248.304S |p48.3*20| 75 195¢g 2pcs 110.248.316S |p48.3*20| 75 195¢g 2pcs
110.260.304.S |60.3*2.0| 70 290g 2pcs 110.260.316S |p60.3*2.0| 70 290g 2pcs

304 Wall thickness: 2.6 Satin 316 Wall thickness: 2.6 Satin

ArtNo o) L w > ArtNo o) L w S
110.042.304S |@424+26| 70 1339 | 2pcs 1100423165 |@424+26| 70 133g | 2pcs
110.048.304S |p48.3*2.6 175g 2pcs 110.048.316.S |p48.3*2.6| 70 1759 2pcs

LB




Connector-MOD 111

304 Wall thickness: 1.5Wall thickness: 2.0 Satin 316 Wall thickness: 1.5Wall thickness: 2.0 Satin

ArtNo QA ®B w | & ArtNo QA ®B w | &
111.242.304S |@424*15| @424*20 | 133g| 2pcs 111.242.316S |¢p424*1.5| 9424*2.0| 133g | 2pcs
111.248.304S |p48.3*1L5| @48.3*20 | 157g| 2pcs 111.248.316S |¢p48.3*1.5| p48.3*2.0| 1579 | 2pcs




Connector-MOD 112
Part No. Indicate

1213 | | | | | |

‘ I— Surface Finish
Material

FittinW Pipe@/DIM
MOD No.

Eg. 112.138.304.S

112: MOD No.

138: FittnW Pipe ®:38.1*1.5
304: Material 304 SS

S: Satin/M: Mirror

304 Wall thickness: 1.5 Satin 316 Wall thickness: 1.5 Satin

Art.No ® H W > Art.No [0 H w S
112.138.304S |p38.1*1.5| 60 3579 2pcs 112.138.316S |¢p38.1*1.5| 60 3579 2pcs
112.150.304S |p50.8*1.5| 70 5549 2pcs 112.150.316S |¢p50.8*1.5| 70 5549 2pcs

304 Wall thickness: 2.0 Satin 316 Wall thickness: 2.0 Satin

ArtNo o) H w > Art.No o) H w >
112.233.304S |¢33.7*20| 50 288g 2pcs 112.233.316S |33.7¥20{ 50 2889 2pcs
112.238.304S |¢38.1*20| 60 3749 2pcs 112.238.316S |p38.1*2.0/ 60 3749 2pcs
112.242.304S |p424*20| 60 4119 2pcs 112.242316S |@424*2.0/ 60 4119 2pcs
112.248.304S |p48.3*20| 70 557g 2pcs 112.248.316S |p48.3*2.0f 70 5579 2pcs

304 Wall thickness: 2.6 Satin 316 Wall thickness: 2.6 Satin

Art.No [0) H w Ss! ArtNo o) H w >
112.042.304S |p424*26| 60 4529 2pcs 112.042.316.S |p424*2.6| 60 452g 2pcs
112.048.304S |p48.3*26| 70 618g 2pcs 112.048.316.S |p48.3*2.6| 70 618g 2pcs




Connector -MOD 113

304 Wallt

hickness: 1.5 Satin
® H w | &

316 Wall thickness: 1.5 Satin

Art.No Art.No P H w @
113.138.304.S |p38.1*1.5 30 360g | 2pcs 113.138.316.S |p38.1*1.5 30 360g | 2pcs
113.150.304.S |p50.8*1.5 35 558g | 2pcs 113.150.316.S |(p50.8*1.5 35 558g| 2pcs

304 Wallt 316 Wall thickness: 2.0 Satin

hickness: 2.0 Satin
@ H w &

H w >

Art.No Art.No (0]

113.233.304S |¢33.7*20| 25 2859 2pcs 113.233316.S |33.7*20| 25 285g | 2pcs
113.238.304.S |¢38.1*2.0| 3175 | 3869 2pcs 113.238.316.S |¢38.1*2.0| 31.75 386g | 2pcs
113.242.304S |@424*20| 30 4069 2pcs 113.242.316.S |p424*20| 30 406g | 2pcs
113.248.304.S |p483*20| 35 5509 2pcs 113.248.316.S |p48.3*20| 35 5509 | 2pcs
113.250.304.S |p50.8*2.0| 33.87| 5699 2pcs 113.250.316.S |50.8*2.0| 33.87 5699 | 2pcs

304 Wallt 316 Wall thickness: 2.6 Satin

hickness: 2.6 Satin
@ H w | &

H w | &

Art.No Art.No [0}
113.042.304.S |p42.4*2.6 30 444g | 2pcs 113.042316.S |p424*2.6 30 444g| 2pcs
113.048.304.S |(p48.3*2.6 35 598g| 2pcs 113.048.316.S |p48.3*2.6 35 598g| 2pcs




Part No. Indicate

=

Eg. 114.125.304.S I ;

HOITHO .

Connector-MOD 114

11475677 |

Surface Finish
Material

FittinW Pipeg/DIM
MOD No.

114: MOD No.
125: FittnW Pipe ®:25.4*1.5

304: Material 304 SS
S: Satin/M: Mirror a
304 Wall thickness: 1.5 Satin 316 Wall thickness: 1.5 Satin
ArtNo ® Hlw| & Art.No ® H|w|&®
114.125.304.S | @25.4*1.5| 50 | 204g| 2pcs 114.125.316.S | @25.4*1.5| 50 | 204g| 2pcs
114.138.304.S | 938.1*15| 60 |408g| 2pcs 114.138.316S | 938.1*15| 60 |408g 2pcs
114.150.304.S | 50.8*1.5| 72 | 622g| 2pcs 114.150.316.S | @50.8*1.5| 72 | 6229 2pcs

Connector-MOD 115

T
v

H

|
|

U

-4+

H/2

‘
T
|

!

2

&

304 Wall thickness: 1.5 Satin

Art.No

[0}

w

&

115.138.304.S

938.1%15

412g

2pcs

115.150.304.S

950.8+1.5

605¢g

2pcs

316 Wall thickness: 1.5 Satin

Art.No

[0}

w

&

115.138.316.S

938115

412g

2pcs

115.150.316.S

950.8+1.5

605¢g

2pcs




Connecto

|
\
L

Art.No DIM H w | & ArtNo DIM H w | &
116.135.304.S |35*35%1.5| 225 2729| 2pcs 1161353165 |[35*35*15| 225 | 2729 | 2pcs
116.240.304.S |40%40*2.0| 25 361g| 2pcs 116.240.316.S |40*40*2.0| 25 361g | 2pcs

Connector-MOD 117

e

04 i
DIM H w >

Art.No
1171353045 |35*35*1.5| 225 | 328 | 2pcs
316 Satin
ArtNo DIM H w >
117.135.3165 [35*35*15 225 | 3289 | 2pcs




Part No. Indicate
we [ 1] [ Eg. 118.141.304.S

I— Surface Finish 118: MOD N°°
L Material 141: FittnW Pipe DIM: 40*10*1.5

FittinW Pipeg/DIM 304: Material 304 SS
MOD No. S: Satin/M: Mirror

Connector-MOD 118

304  Satin
DIM

Art.No Hlw | &

118.141.304.S | 40*10*1.5| 25 |252g| 2pcs
118.220.304.S | 40*20*2.0| 25 |265g| 2pcs
118.262.304.S | 60*20*2.0 | 35 |464g| 2pcs

" 316 Satin
DIM

Art.No H|w|&®
i o 118.141.316S | 40*10*1.5| 25 |252g| 2pcs
)5/ 118.220.3165 | 40%20*2.0 | 25 |265g| 2pcs

118.262.316.S | 60*20*2.0 | 35 |464g| 2pcs




Art.No

Connector-MOD 119

119.130.304.S

930.01.5

25

168g

2pcs

119.142.304.S

P424%15

30

340g

2pcs

119.148.304.S

©48.3*15

35

443¢g

2pcs

119.160.304.S

©60.3*1.5

40

692¢g

2pcs

Art.No

119.144.304.S

40*40*1.5

30

441

2pcs

Art.No

119.164.304.S

60*40*1.5

40

681

2pcs

24.1

Art.No

119.130.316.S

©30.01.5

25

168g

2pcs

119.142.316.S

9424515

30

340g

2pcs

119.148.316.S

48.3*15

35

443g

2pcs

119.160.316.S

©60.31.5

40

692g

2pcs

Art.No

119.164.316.S

60*40*1.5

40

681

2pcs

Art.No

119.144.316.S

40*40*1.5

30

441

2pcs




Part No. Indicate

e cH I o I O

=

Eg. 120.142.304.S

120: MOD No.

142: FittnW Pipe ¢42.4*1.5
304: Material 304 SS

S: Satin/M: Mirror

Surface Finish
Material

FittinW Pipea/DIM
MOD No.

Connector-MOD 120

/&-Q
» S

304 Wall thi

cknessl.5 Satin
® Hiw|&

Art.No

120.142.304.S | 942.4*1.5| 30 | 3869

2pcs

120.148.304.S | 48.3*1.5| 35 | 5059

2pcs

120.160.304.S | ¢60.3*1.5| 40 | 815¢g

2pcs

Connector-MOD 121

316 Wall thic

Art.No

knessl.5 Satin
@ Hiw|&

120.142.316.S

942415

3869

120.148.316.S

48.3*15

5059

120.160.316.S

©60.3*1.5

815¢g

Iji
T

304 Wall thicknessl.5 Satin

Art.No

DIM

L

w

&

121.144.304.S

40*40*1.5

64

190g

2pcs

121.164.304.S

60*40*1.5

66

263g

2pcs

316 Wall thickness: 1.5 Satin

Art.No

DIM

H

w

&

121.144.316.S

40*40*1.5

64

190g

2pcs

121.164.316.S

60*40*1.5

66

2639

2pcs




Connector-MOD 122

Gl

=i /D‘Q//
2
304 Wall thickness2.0 Satin 316 Wall thickness2.0 Satin
Art.No Art.No
1222423045 |@424+*20/ 30 324g | 2pcs 1222423165 |@424+20| 30 324g | 2pcs
122.248304S |@483+20| 35 437g| 2pcs 1222483165 |48.3%20 35 437g | 2pcs

Connector-MOD 123

T
1

]

316 Wall thickness2.0 Satin

304 Wall thickness2.0 Satin

304 Wall thickness2.6 Satin

Art.No

[6)

H

w

S~

123.042.304.S

©424%2.6

230

8189

2pcs

123.048.304.S

©48.3*2.6

235

10049

2pcs

Art.No Art.No
123.233.304.S | 33.7*2.0 | 223|498g| 2pcs 123.233.316.S (p33.7*2.0 | 223 |498g| 2pcs
123.242.304.S | p42.4*2.0 | 228|676g| 2pcs 123.242.316.S |p42.4*2.0 | 228 |676g| 2pcs
123.248.304.S | p48.3*2.0 | 235|841g| 2pcs 123.248.316.S |p48.3*2.0 | 235 |841g| 2pcs

316 Wall thickness2.6 Satin

Art.No

¢

H

w

&

123.042.316.S

9424%2.6

230

818g

2pcs

123.048.316.S

©48.3*2.6

235

1004g

2pcs




Handrail adapter-MOD 124
Part No. Indicate

. i
e [ 1 [ 1 [ \

ik
‘ I— Surface Finish

Material { ,
FittinW Pipea/DIM

MOD No.

Eg. 124.125.304.S
124: MOD No. i ‘ ’

125: FittnW Pipe@25.4*1.5 |
304: Material 304 SS |
S: Satin/M: Mirror ‘

Art.No Art.No
124.125.304.S | @254*1.5 |@25.4 35g| 2pcs 1241253165 | @254*1.5 |@254 35g | 2pcs
124.138.304.S | ¢25.4*1.5 |938.1 35g | 2pcs 124.138.316.S | ¢25.4*1.5 |¢38.1 35g | 2pcs
124.150.304.S | @25.4*1.5 |@50.8 34g| 2pcs 124.150.316S | @25.4*1.5 |p50.8 34g | 2pcs

Handrail adapter--MOD 125

| 1b

S

o cmifand
\
Ny "

Art.No Art.No
125.138.304.S | @38.1*1.5 cp38.1 102g 2pcs 125138.316.S | @38.1*1.5 cp38.1 102g 2pcs
125.150.304.S | ¢38.1*1.5 | ¢50.8 | 97g | 2pcs 125.150.316.S | 38.1*15 | ¢50.8 | 97g | 2pcs
125.200.304.S | ¢38.1*2.0 | Square | 80g | 2pcs 125.200.316.S | ¢38.1*2.0 |Square | 80g |2pcs

1252383045 | ¢381*20 | @381 | 90g | 2pcs 1252383165 | ¢381*20 | @381 | 90g | 2pcs
125250.3045S | ¢38.1*2.0 | 9508 | 90g | 2pcs 1252503165 | ¢38.1*20 | ¢50.8 | 90g | 2pcs




Handrail adapter--MOD 126

D

N T NS

(3

Art.No Art.No

126.242.304.S | ¢424*20 (p42.4 108g 2pcs 126.242.316S | p424*20 (p42.4 108g 2pcs
126.248.304.S | p424*20| @483 |109g | 2pcs| | 126.248316S | p424*20 | ¢48.3 |109g | 2pcs
126.000.304.S | @424*2.6 | Square | 95g | 2pcs| | 126.000.316.S | p42.4*2.6 | Square | 95g |2pcs
126.042.304.S | p424*26| @424 |105g | 2pcs| | 126.042.316S | p424*26 | @424 |105g | 2pcs
126.048.304.S | p424*26| 483 |106g | 2pcs| | 126.048.316S | p424*26 | p48.3 |106g | 2pcs
126.060.304.S | @424*26| ©60.0 |103g | 2pcs| | 126.060.316.S | p424*26 | ¢60.0 | 103g |2pcs

Handrail adapter--MOD 127

o~y
- -
e
g e

'\ A le

L ()

Art.No Art.No
127.200.304.S | p48.3*2.0 Square 123g 2pcs 127.200.316.S | p48.3*2.0 Square 123g 2pcs
127.238.304.S | p48.3*2.0 | ¢38.1 |146g | 2pcs 127.238.316S | p48.3*20 | 381 |146g | 2pcs
127.248.304.S | ¢48.3*2.0 | 483 |147g| 2pcs 127.248.316.S | p48.3*2.0 | 483 (1479 | 2pcs
127.048.304.S | ¢48.3*2.6 | 483 | 144g| 2pcs 127.048.316S | p48.3*2.6 | p483 (1449 | 2pcs
127.060.304.S | p48.3*2.6 | ©60.0 |147g| 2pcs 127.060.316S | p48.3*2.6 | ©60.0 |147g | 2pcs

me mqm‘
\




Handrail adapter--MOD 128

mio!

ArtNo D ® w S ArtNo D ® w )
1281503045 |@50.8*L5| @50.8| 173g | 2pcs 1281503165 |@50.815| ©50.8 | 173g | 2pcs
Part No. Indicate Eg. 129.138.304.S
w9031 | || || |
I_ 129: MOD No.
‘ Surface Finish 138: FittnW Pipe38.1*1.5
:tat::ll: IPipe:a/DIM 304: Material 304 SS
MOD No.

S: Satin/M: Mirror

Wall return-MOD 129

304 Wall thickness: 1.5 Satin

ArtNo ® Hiw|&®

129.138.304.S | ¢38.1*15| 79 |368g| 2pcs
129.150.304.S | 50.8*1.5 | 85 |511g| 2pcs

o \ 316 Wall thickness: 1.5 Satin
ra

Art.No ® H| w| &

129.138.316.S | ¢38.1*1.5| 79 | 368g| 2pcs
129.150.316.S | ¢50.8*1.5| 85 | 511g| 2pcs




304 Wall thickness: 2.0 Satin 316 Wall thickness: 2.0 Satin

Art.No Art.No
129.233.304.5 (p33.7*2.0 77  |3569 2pcs 129.233.316.5 (p33.7*2.0 77 | 3569 2pcs
129.238.304S | 381*20 | 79 401g| 2pcs 129.238.316.S | ¢38.1*2.0 79 401g| 2pcs
129.242304S |@424*20 | 81 [459g | 2pcs 129.242316S | @424*20| 81 | 459g| 2pcs
129.248304S | p483*20 | 84 5379| 2pcs 129.248316S | @483*20| 84 | 537g|2pcs
129.250.304S | 50.8*20 | 85 582g| 2pcs 129.250.316S | ¢50.8*20| 85 | 582g| 2pcs

304 Wall thickness: 2.6 Satin 316 Wall thickness: 2.6 Satin

Art.No ® H| W @ Art.No ® H W @
129.042.304.S | p42.4*2.6 | 81 | 511g| 2pcs 129.042.316.S | p42.4*2.6 | 81 | 511g 2pcs
129.048.304.S | p48.3*2.6| 84 | 603g| 2pcs 129.048.316.5 | p48.3*2.6 | 84 | 603g 2pcs

End scrolls-MOD 130

304 Wall thickness: 2.0 Satin

316 Wall thickness2.0 Satin

Art.No Art.No
130.238.304.S| 38.1*2.0 | 60 | 217g| 2pcs 130.238.316.S |p38.1*2.0 | 60 |217g| 2pcs
130.242.304.S| p424*2.0 | 61 | 249g| 2pcs 130.242.316.S |p42.4*2.0 | 61 | 249g| 2pcs
130.248.304.S| 48.3*2.0 316g| 2pcs 130.248.316.S |p48.3*2.0 316g| 2pcs

:Il




End scrolls -MOD 131

d =

304 Wall thickness: 1.5 Satin 316 Wall thickness: 1.5 Satin
¢ |H|W|&

Art.No ® Art.No
131.142.304.S | @42.4*1.5| 90 |255g| 2pcs 131.142.316.S | 42.4*1.5| 90 |255g| 2pcs
131.148.304.S | ¢48.3*1.5| 10 |356g| 2pcs 131.148.316.S | ¢48.3*1.5| 10 |356g| 2pcs

Part No. Indicate

. I:I| I:I| |:I| End cap-MOD 132
Surface Finish

Material

FittinW Pipea/DIM
MOD No.

Eg. 132.116.304.5 %)

132: MOD No.

116: FittnW Pipep16*1
304: Material 304 SS
S: Satin/M: Mirror

304 Wall thickness:1.0 Satin 316 Wall thickness:1.0 Satin
® H w S ® H w |

Art.No Art.No

1321163045 | @l16*1 4 169 2pcs 132.116316S | @l16*1 4 169 2pcs
304 Wall thickness:1.5 Satin 316 Wall thickness:1.5 Satin
Art.No (0) H W @ Art.No P H W @

132.125.304.S | @25.4*1.5 | 12.7| 32g| 2pcs 132.125.316.S | ¢254*1.5 | 12.7| 32g| 2pcs
132.138.304.S | @38.1*15 | 9 | 68g| 2pcs 132.138.316S | 381*1.5 | 9 | 68g| 2pcs
132.150.304.S | ¢50.8*1.5 | 10|113g| 2pcs 132.150.316.S | ¢50.8*1.5 | 10 |113g| 2pcs




304 Wall thickness:2.0 Satin 316 Wall thickness:2.0 Satin

Art.No Art.No
132.233.304.S cp33.7*2.0 8 439 2pcs 132.233.316.S cp33.7*2.0 8 439 2pcs
132.238.304.S | ¢38.1*2.0 9 69g| 2pcs| | 132.238.316.S | ¢38.1*2.0 9 69g | 2pcs
132.242.304.S | p42.4*2.0 9 60g| 2pcs| | 132.242.316S | p424*2.0 9 60g | 2pcs
132.248.304.S | p48.3*2.0 10 759 | 2pcs| | 132.248.316S | p48.3*20 10 759 | 2pcs|
132.250.304.S | ¢50.8*2.0 10 | 1149| 2pcs| | 132.250.316.S | ¢50.8*2.0 10 | 1149| 2pcs

132.260.304.S | ¢60.3*2.0 118g| 2pcs| | 132.260.316.S | ¢60.3*2.0 118g| 2pcs
304 Wall thickness:2.6 Satin 316 Wall thickness:2.6 Satin
Art.No Art.No

1320423045 | p424*26| 9 | 62g | 2pcs | | 132.042316S| p424*26| 9 | 62g| 2pcs
132.048.304.S | p48.3*2.6| 10 | 76g | 2pcs 132.048.316.5| ¢48.3*2.6| 10| 76g| 2pcs

End cap-MOD 133

304 Wall thickness:1.5 Satin 316 Wall thickness:1.5 Satin

Art.No Art.No
133.138.304.S | 938.1*15| 57g | 2pcs 133.138.316.5 | ¢38.1*15| 57g | 2pcs
133.150.304.S | 950.8*15| 87g | 2pcs 133.150.316.5 | ¢50.8*1.5| 87g | 2pcs

ArtNo ® w| &> Art.No ® w | >
133.233.304.5 | p33.7*2.0 | 48g| 2pcs 133.233.316.S| ¢33.7*20 | 48g| 2pcs
133.238.304.5 | 938.1%2.0 | 57g| 2pcs 133.238.316.5 38.1%20 | 57g| 2pcs
1332423045 | p424"20 | 679 2pcs 1332423165 p424*20 | 679| 2pcs
133.248.304.5 | p48.3*2.0 | 80g | 2pcs 133.248.316.5| p48.3*20 | 80g| 2pcs
133.250.304.5 | p50.8*2.0 | 87g| 2pcs 133.250.316.5 950.8+2.0 | 87g| 2pcs




Part No. Indicate Eg. 134.142.304.S
wasspe | | [ | [ ]
I_ 134:MOD No.
‘ ‘ ;Jar:::;ﬁnish 142: FittnW Pipep42.4*1.5
FittinW Pipeg/DIM 304: Material 304 SS

MOD No.

S: Satin/M: Mirror

End cap-MOD 134

304 Wallthickness: 1.5 Satin 316 Wall thickness:1.5 Satin

Art.No Art.No

134.142.304.S | p424*1.5| 85g | 2pcs 134.142.316.S | ¢42.4*1.5| 859 | 2pcs
134.148.304.S | 48.3*1.5|112g| 2pcs 134.148.316.S | 48.3*1.5 |112g | 2pcs




End cap-MOD 135

304 Wall thickness:1.5 Satin 316 Wall thickness:1.5 Satin

Art.No Art.No
135.142.304.S | @42.4*1.5 | 89g| 2pcs 135.142.316.S | 42.4*1.5| 89g | 2pcs
135.148.304.S | p48.3*1.5 | 116g| 2pcs 135.148.316.S | 48.3*1.5 | 1169 | 2pcs
135.160.304.S | 960.3*1.5 | 184g| 2pcs 135.160.316.S | ¢60.3*1.5 | 184g | 2pcs

End cap-MOD 136

Q

40
t
304 Wall thickness:2.0 Satin 316 Wall thickness:2.0 Satin
Art.No Art.No
136.244.304.S |40*40*2.0| 88g| 2pcs 136.244.316.S |40*40*2.0| 88g | 2pcs
1E
304 Wallthickness:1.5 Satin 316 Wallthickness:1.5 Satin
Art.No Art.No
136.144.304.S | 40*40*1.5| 999g | 2pcs 136.144.316.S | 40*40*1.5| 999g | 2pcs




304 Wall thick

L /
ness:1.5 Satin
DIM w | &

Art.No

136.164.304.S

60*40*1.5

1729

2pcs

40
E

316 Wall thick

Art.No

ness:1.5 Satin
DIM w | &

136.164.316.S

60*40*1.5

172g

2pcs

Part No. Indicate

w738 [ 1 [

=

End cap-MOD 137

Art.No

Surface Finish
Material

FittinW Pipea/DIM
MOD No.

Eg. 137.020.304.S

137:MOD No.

020: FittnW Pipe@20
304: Material 304 SS

S: Satin/M: Mirror

137.020.304.S

137.025.304.S

137.030.304.5

137.040.304.S

137.050.304.5

Art.No

137.020.316.5

137.025.316.S

137.030.316.5

137.040.316.S

137.050.316.5




End cap-MOD 138

—/
D
304 Satin 316 Satin
Art.No o | D|H|W|® Art.No | D|H|W|®
138.210.304S | 920 | 10 [185| 25g| 2pcs 138210316 |20 | @10 |185]|25g | 2pcs
1382123045 | 920 | @12 [175| 22g] 2pcs 138.212.316S |20 | 12 175|229 | 2pcs
138.214.304.S | 920 | @14 |16.5| 20g | 2pcs 138.214.316.S |20 | 14 |16.5| 20g | 2pcs




MMMMMMMMM







Part No. Indicate Wall flanges-MOD 201

200 [ [ ][ |

‘ I— Surface Finish
Material ;

Fitting Pipe@

Eg. 201.233.304.S @ ,, . “
- @
.

201: MOD No.

233: ®: 33.7

304: Material 304 SS
S: Satin/M: Mirror

S50 Satin 316 Satin

ArtNo ® D |[H w| & ArtNor | ¢ D H|lw | &
2012333045 | 9337 | @85 |30 (194g| 2pcs 2012333165 | @337 | @85 |30 |194g| 2pcs
2012383045 | ¢381| @90 [30[207g| 2pcs 2012383165 [ 381 | 90 |30 [207g| 2pcs
2012423045 | @424 | @95 |30 (223g| 2pcs 2012423165 | @424 | @95 |30 |223g| 2pcs
201248304S | p483 | 100 (35 |262g| 2pcs 201248316S | 483 | 100 (35 |262g| 2pcs
201.250.304S | @508 | @103 |35 |274g| 2pcs 2012503165 | 508 | @103 |35 |274g| 2pcs
201.260.304S | 9603 | 115 |40 |347g| 2pcs 201.260.316S | @603 | 115 |40 |347g| 2pcs

Accessories




Wall flanges-MOD 202

304 Satin
[0)

Art.No D |[H| wW|&®

202.042.304.S | @424 | @90 | 30 |194g| 2pcs
202.048.304S | @483 | @95 | 35 |222g| 2pcs
202.060.304.S | 60.3 | @107 | 35|262g| 2pcs

316 Satin
¢

Art.Nor D |H|W|&®

2020423165 | @424 | 990 | 30 [194g| 2pcs
2020483165 | @483 | 995 | 35 222g| 2pcs
202.060316S | @603 | 9107 | 35 [262g| 2pcs

A T M5*25 M5 | 25mm | 6pcs




Part No. Indicate
Eg. 203.235.304.S
203 [ 1L

| 203: MOD No.
Surface Finish 235: Fittng Pipe dimension: 35*35

Material - 304: Material 304 SS
Fitting Pipe Dimension S: Satin/M: Mirror

MOD No.

Wall flanges-MOD 203

Art.No Art.Nor

203.235304.5|35*35| 80 |29 (2529 2pcs 2032353165 |35*35| 80 |29 (2529 2pcs
203.240.304.5 | 40*40 | 95 |29 |300g| 2pcs 203.240.316S5 | 40%40 | 95 |29 |300g| 2pcs

Accessories




Wall flanges-MOD 204

Art.No

Art.Nor

204.040.304.S

40*40

80

29

2129

2pcs

04.040.316.S

2129

2pcs

Art.No

304

D

L

Satin

H

w

Art.Nor

w

204.064.304.S

60*40

100*80

29

2539

2pcs

204.064.316.S

2539

2pcs

Accessories




Part No. Indicate
205 || ] [

‘ I— Surface Finish
Material

Fitting Pipeg
MOD No.

Eg. 205.038.304.S

205: MOD No.

038: Fittng Pipe ¢38.3
304: Material 304 SS
S: Satin/M: Mirror

Base flanges-MOD 205

ArtNo ® D|B|W|& ArtNo ® D|B|W|&
205038304S| @383  [p100 |75 |331g| 2pcs| | 2050383165 | 383 |p100 |75 |331g| 2pcs
205042304S| @424 | @l00 |75 [316g| 2pcs| | 205042316S| @424 [100 |75 |316g| 2pcs
205048304S| @483  |p100 |80 [322g| 2pcs| | 2050483165 | @483 |p100 |80 [322g| 2pcs
205050304S| @508 |10 |80 [305g| 2pcs| | 2050503165 | 508 100 |80 |305g| 2pcs

Accessories

M8*75| M8 | 75mm | 4pcs




Base flanges-MOD 206

Satin
Art.No [0 D | B|lW |[(®
206.038.304.5| 383 120| 90 (4569 |2pcs
206.042.304.5| @424 ©120| 90 (4569 |2pcs
206.048.304S| 483 @120/ 90 |459g | 2pcs
206.050.304.S 50.8 ©120| 90 (4529 |2pcs
316 Satin
Art.Nor [0 D | B|W |®
206.038.316S @383 | @120|90 |4569 |2pcs
206.042.316S| @424 | ¢120|90 |456g |2pcs
206.048.316S @483 | @120|90 |459g |2pcs
206.050.316S @508 | ©120|90 |452g|2pcs

M8*75| M8 | 75mm | 4pcs




Part No. Indicate

Eg. 207.040.304.S
207 || [_1[_|

| 207: MOD No.
Surface Finish 040: Fittng Pipe Dimension: 40*40

Material - 304: Material 304 SS
;tgggNZf’e‘P/ Pimension S: Satin/M: Mirror

Flanges for baluster posts-MOD 207

I —
ol
o
S G
3 Q Q
\./]( ][\/
o

304 316 Satin
D L |B| W @

Satin
Art.No D L B| W @ Art.Nor
207.040.304.S 40*40 100 | 75(481g| 2pcs 207.040.316.S 40*40 100 | 75(481g| 2pcs

Accessories

e, U | M875 M8 | 75mm | 4pcs




Flanges for baluster posts -MOD 208

Art.No Art.Nor

208.038304S| @383 |@l05 |80 |410g|2pcs| | 208.038316S| 383 | 105 | 80 | 410g|2pcs
2080423045 @424 |@l105 |80 |402g|2pcs| | 208.042316S| @424 | @105 | 80 | 402g|2pcs
208.048304.S| @483 |@l115 |90 |463g|2pcs| | 208.048316S] @483 | @115 90 | 463g|2pcs
208.050.304S| @508 |@115 |90 |445g|2pcs| | 208.050316S| 508 | @115 90 | 445g|2pcs

Accessories

Specs ¢ |THK @
®94*3mm ®94 | 3mm | 2pcs

®100*3mm | @100 | 3mm | 2pcs
L ®100.5*3mm |[100.5| 3mm | 2pcs




Part No. Indicate Base flanges-MOD 209

200 [ ]| L |

‘ I— Surface Finish
Material

Fitting Pipe ¢ / Dimension

MOD No. -~ @

Eg. 209.048.304.5 \ >

209: MOD No.

048: Fittng Pipe ¢: 48.3
304: Material 304 SS

S: Satin/M: Mirror

Satin
AtNo | ¢ | D | B|w |B AtNor | ¢ | D |B | w |B
209.048.304.5 @483 115 90 | 671g|2pcs 2090483165 @483 | @115 | 90 | 671g| 2pcs

Accessories

Specs (0) d |

I | ®100*24mm | @100 [24mm| 2pcs

T——




Base flanges-MOD 210

® p |B | w |

Satin
Art.No (0) D B| W @ Art.Nor
210.048.304.S| ¢48.3 | @115 | 90 |664g | 2pcs 210.048.316.5|48.3 | 115 | 90 | 6649g| 2pcs

Accessories

Specs (0) d |3
®100*24mm | @100 |24mm| 2pcs

C

Tre——

M8*75| M8 | 75mm | 8pcs




Part No. Indicate
Eg. 211.138.304.S
211 | L | [ ]

| 211: MOD No.
Surface Finish 138: Fittng Pipe ¢: 38.1*1.5

Material - 304: Material 304 SS
g e/ Bimension S: Satin/M: Mirror

Base flanges-MOD 211

304 Wall thicknessl.5 Satin 316 Wall thicknessl.5 Satin

ArtNo Art.Nor ® B w >
211.138.304S |¢38.1*1.5 80 642g| 2pcs 211.138.316S |p38.1*15 80 642g| 2pcs
211.150.304.S |¢50.8*1.5 80 785g| 2pcs 211.150.316S |p50.8*1.5 80 785g| 2pcs

304 Wall thickness2.0 Satin 316 Wall thickness2.0 Satin

ArtNo ® B w | Art.Nor ® B w Q)
211.233.304S |33.7*2.0 80 5709 | 2pcs 211.233.316S |p33.7*20 80 5709 | 2pcs
211.242.304S |@42.4*2.0 80 698g | 2pcs 211.242316S |p42.4*2.0 80 698g | 2pcs
211.248.304S |p48.3*2.0 80 778g | 2pcs 211.248.316S |p48.3*2.0 80 778g | 2pcs

304 Wall thickness2.6  Satin 316 Wall thickness2.6 Satin

Art.No Art.Nor
211.042.304S |p42.4*2.6 80 771g 2pcs 211.042.316S |p42.4*2.6 80 771g 2pcs
211.060.304.S |p60.3*2.6 20 1063g | 2pcs 211.060.316.S |p60.3*2.6 90 1063g | 2pcs

Accessories

| &=, Y | M8*75| M8 | 75mm | 6pcs




Base flanges-MOD 212

316 Satin
ArtNo D B w > Art.Nor D B w >
212.040.304S | 40*40 75 908g 2pcs 2120403165 | 4040 | 75 908g | 2pcs




Part No. Indicate

Eg. 213.133.304.S
213 [ ][ ][]

| 213: MOD No.
Surface Finish 133: Fittng Pipe ¢: 33.7

Voterial 304: Material 304 SS
;t:)'f::e“’/ pimension S: Satin/M: Mirror

Cover caps-MOD 213

304 Wall thicknessl.5 Satin

Art.No o) D | W|&®

213.100.304.S |blocked|p108 | 165g| 2pcs

| 2131333045 |933.7 |108 | 151g| 2pcs
m, 1 2131383045 |938.1 |¢105 | 151g| 2pcs
- —— " 213.140.304.S @400 9108 | 149g| 2pcs
213.142.304S |@424 |pl02 | 144g| 2pcs
2131483045 | 483 [¢105 | 139g| 2pcs

213.150.304.S |50.8 |[@105 | 140g| 2pcs
213.160.304.S |p60.3 |pl108 | 127g| 2pcs

316 Wall thickness1.5 Satin

| Art.Nor [0) D w | &

213.100.316.5 |blocked|(108 | 165g| 2pcs
2131333165 |933.7 |¢108 | 151g| 2pcs

]
L5
/‘\\ 2131383165 |938.1 |@105 | 151g| 2pcs
\_/ 2131403165 | 9400 |9108 | 149g| 2pcs
D

213.142.316S |@424 |@l02 | 144g| 2pcs
213.148.316.S |p48.3 |@l05 | 139g| 2pcs
213.150.316.S |p50.8 |pl05 | 140g| 2pcs
213.160.316.S |p60.3 |p1l08 | 127g| 2pcs




- 0\
@

304 Wall thickness2.0  Satin 316 Wall thickness2.0  Satin

Art.No [0) D | W|&® ArtNor | @

w | &
213.238.304.S | ®38.1 |pl10 | 410g| 2pcs 213.238.316.S | 38.1 |pl10 |410g | 2pcs
213.242.304.5| @424 |pl110 | 401g| 2pcs 213.242.316.S | @424 |pl10 |401g | 2pcs
213.248.304.S | p48.3 |p120 | 458g| 2pcs 213.248.316.S | p48.3 |pl20 |458g | 2pcs
213.250.304.S | ¢50.8 |p120 | 452g| 2pcs 213.250.316.S | ¢50.8 |p120 |452g | 2pcs

Assembling

-
lh




Part No. Indicate Cover caps-MOD 214

214 [ | [ [ |

‘ I— Surface Finish
Material
I:vi“t::[i)n;:ipe ¢ / Dimension [@
Eg. 214.040.304.S | 5 y

214: MOD No. \ \l ’
040: Fittng Pipe Dimension: 40*40 ”
304: Material 304 SS al
S: Satin/M: Mirror

304 Wall thicknessl.5 Satin 316 Wall thicknessl.5 Satin

Art.No D L [H| W& Art.Nor D L|Hl W&
214.040304.S| 40*40 108 | 25|2079|2pcs| | 214.040316S| 40*40 108 | 25|207g| 2pcs
214.050.304.S|  50*50 108 |20 |185g|2pcs| | 214.050.316S| 50*50 108 |20 |185g|2pcs

oD

304 Wall thicknessl.5 Satin 316 Wall thicknessl1.5 Satin

Art.No D L [H|W|& Art.Nor D L [H W |&
214450304.S| 50*50 | 108 |20|180g 2pcs| | 214450316S| 50*50 108 |20 |180g|2pcs




Baluster posts-MOD 215

Inside core-MOD 216

304 Wall thicknessl.5 Satin

Art.No [0) H IS
215.242.304.S| 42.4*2.0 | 100 (464g |2pcs
215.248.304.S| 48.3*2.0 | 100 (5359 |2pcs

316 Wall thicknessl1.5 Satin

Art.Nor 0] H | W |53
215.242.316.S| 942420 | 100 |4649g| 2pcs
215.248.316.S| 48.3*2.0 | 100 |535g|2pcs

304 Wall thickness2.0 Satin 316 Wall thickness2.0  Satin
Art.No @ G | W | Art.Nor @ G| W |
216.242.304S |p424*20 | M12 | 92g |2pcs 216.242.316.S |p42.4*20 | M12 | 92g | 2pcs
216.248.304.S |p48.3*20 | M12 | 1199 |2pcs 216.248.316.S [p48.3*20 | M12 |119g | 2pcs
216.250.304.S |50.8*2.0 | M12 | 133g |2pcs 216.250.316.5 | p50.8*2.0 | M12 [133g |2pcs

304 Wall thickness2.6 Satin 316 Wall thickness2.6  Satin
ArtNo o) G | W | Art.Nor o) G| W |
216.038.304.S | ¢38.3*26 |M12 | 78g |2pcs 216.038.316.5| ¢38.3*2.6 | M12 | 78g |2pcs
216.042.304S | p424*26 |M12 | 88g |2pcs 216.042.316.5| p424*2.6 | M12 | 88g |2pcs
216.048304.S | 948.3*26 | M12 |1llg [2pcs 216.048.316.S| (48.3*2.6 | M12 | 111g|2pcs




METRAKION




Handrail brackets




Handrail brackets (tube-flat)

Part No. Indicate

3011./2/3/AD D D : /"" )

-
| -
Surface Finish
Material

Fitting Pipeo

Tube type
MOD No.

Eg. 301.100.304.S

301: MOD No.

100: Flat tube

304: Material 304 SS
S: Satin/M: Mirror

304 Satin 316 Satin

ArtNo D |@|H| W|® ArtNo D |@|H| W|&®
301.100.304S [p33.7*20 | flat| 80 | 2129 | 2pcs 301.100.316S |33.7*20 | flat| 80 | 2129 | 2pcs
302.100.304S |38.1*20 | flat| 81 | 223g | 2pcs 302.100.316S |38.1*20 | flat| 81 | 223g | 2pcs
3031003045 [p424*20 | flat| 81 | 2429 | 2pcs 3031003165 [p424*20 | flat| 81 | 2429 | 2pcs
3041003045 (p424*26 | flat| 81 | 2499 | 2pcs 304.100.316S |(p424*26 | flat| 81 | 2499 | 2pcs
305.100.304S |(p48.3*20 | flat| 82 | 293g | 2pcs 305.100.316S |(p48.3*20 | flat| 82 | 293g | 2pcs
306.100.304.5 (p48.3*26 | flat| 82 | 285g | 2pcs 3061003165 [(p48.3*26 | flat| 82 | 285g | 2pcs
307.100.304S [p50.8*20 | flat| 82 | 308g | 2pcs 307.100316.S [p50.8*20 | flat| 82 | 308g | 2pcs

lo & -
<L M5*16] M5 | 16mm | 4pcs




Handrail brackets (tube-tube)

ArtNo D o |[H| W |&> Art.No D p |H| W |&>
3012333045 |p337*20 | 9337 |78|191g|2pcs| |301.233316S | 337+20 | 337 |78 |191g|2pcs
3012423045 | 933720 | p424 |78|189g|2pcs| | 301.242.316S | 337+20 | 9424 |78 |189g|2pcs
3022383045 |p38.1*20 | 381 |79 (2029 |2pcs| | 3022383165 | p381+20 | 381 |79 | 202g|2pcs
3022503045 |p38.1*20 | 9508 |79 [206g |2pcs| | 302250316 | p38.1+20 | 508 | 79 | 206g | 2pcs
3032423045 | p424*20 | @424 |79 2279 |2pcs| | 303242316 | p424+20 | p424 | 79 | 227g|2pcs
3032483045 |p424*20 | p483 |79 [227g|2pcs| | 303.248316S | p424+20 | 483 |79 | 227g|2pcs
3042423045 | p424*26 | p424 |79 (2269 |2pcs| | 304.242.316S | p424+26 | 9424 | 79 | 226q | 2pcs
3042483045 |(p424*26 | p483 |79 (2269 |2pcs| | 304.248316S | p424+26 | p483 | 79 | 226g|2pcs
3052383045 |(p48.3*20 | 381 |80 [272g|2pcs| | 3052383165 | p48.3+20 | 381 |80 |272g|2pcs
3052423045 | (p48.3*20 | p424 |80 [271g|2pcs| | 3052423165 | p48.3+20 | 9424 |80 |271g|2pcs
3052483045 |p48.3*20 | p483 |80 [271g|2pcs| | 305.248316S | p48.3+20 | 483 |80 |271g|2pcs
3062423045 |(p48.3*26 | p424 |80 (2709 |2pcs| | 306242316 | p48.3+26 | p424 | 80 | 270g|2pcs
3062483045 | (p48.3*26 | p48.3 |80 [270g|2pcs| | 3062483165 | p48.3+26 | 483 |80 | 270g|2pcs
3062603045 |p48.3*26 | p60.3 |80 [270g |2pcs| | 306260316 | p48.3+26 | p60.3 | 80 | 270g | 2pcs
3072383045 | 950820 | (381 |80 [281g|2pcs| |307.238316S | p50.8+20 | 381 |80 |281g|2pcs
3072503045 | 50820 | p50.8 |80 [286g |2pcs| | 307.250.316S | p50.8+2.0 | p50.8 | 80 | 286g |2pcs




Handrail brackets (tube-tube)

Art.No D » |H| W | & Art.No D p |H| W |
3013333045 |p337*20 | 9337 |78 |188g|2pcs| |301.333316S |(p33.7°20 | @337 |78 |188g |2pcs
3013423045 | 933720 | p424 |78 |186g|2pcs| | 301.342316S |p33.7°20 | p424 |78 1869 |2pcs
3023383045 |p38.1*20 | 381 |79 |198g|2pcs| | 3023383165 |38.1*20 | 381 |79 [198g |2pcs
3023503045 |p38.1*20 | 9508 |79 |202g |2pcs| | 3023503165 |p38.1*20 | ¢508 |79 [202g [2pcs
3033423045 | p424*20 | @424 |79 |224g|2pcs| | 3033423165 |(p424*20 | @424 |79 |224g |2pcs
3033483045 |p424*20 | p483 |79 |224g|2pcs| | 3033483165 |p424*20 | @483 |79 |224g |2pcs
3043423045 | p424*26 | p424 |79 |223g|2pcs | | 3043423165 |p424°26 | @424 |79 [223g |2pcs
3053383045 |p48.3*20 | 381 |80 |269g|2pcs| | 3053383165 |(p48.3*20 | 381 |80 [269g |2pcs
3053423045 | p48.3*20 | p424 |80 |268g|2pcs| | 3053423165 |p483*20 | p424 |80 [268g |2pcs
3053483045 | (p48.3*20 | p48.3 |80 |268g|2pcs| | 3053483165 |(p483*20 | p483 |80 [268g |2pcs
3063423045 |(p48.3*26 | p424 |80 |267g|2pcs| | 3063423165 |p48.3*26 | p424 |80 2679 |2pcs
3063483045 | (p48.3*26 | p48.3 |80 |269g |2pcs| | 3063483165 |(p48.3*26 | p48.3 |80 [269g |2pcs
306.360.304.5 | p48.3*26 | p60.3 |80 |266g |2pcs| | 3063603165 |p48.3*26 | 0603 |80 [266g |2pcs
3073503045 |p50.8*2.0 | p50.8 |80 |282g|2pcs| |307.3503165 |p50.8*20 | 508 |80 (2829 |2pcs




Handrail brackets (tube-tube)

Art.No Art.No
301437.304S | p33.7+20 cp33.7 78 11899 2pcs 301437.316S | p33.7%20 cp33.7 78 |189g 2pcs
301442.304S | @33.720 | p424 |78 (1879 |2pcs 3014423165 | p33.720 | p424 |78 |187g|2pcs
302438.304S | 9381*20 | 381 |78 {1999 |2pcs 302438.316S | p38.1*20 | 381 |78 |199g|2pcs
302450.304S | p381*20 | 508 |78 {2039 |2pcs 302450.316S | p38.1*2.0 | 508 |78 |203g|2pcs
303442.304S | p424*20 | p424 |79 |225g |2pcs 303442.316S | p424*20 | p424 |79 |225g|2pcs
303448.304S | p424*20 | 483 |79 |225g |2pcs 303448.316S | p424*20 | p48.3 |79 |225g|2pcs
304442.304S | p424+26 | 9424 |79 |224g |2pcs 304442.316S | p424*26 | 424 |79 |224g|2pcs
305448.304S | p48.3*20 | 483 |80 {2699 |2pcs 305448.316S | p48.3*20 | p48.3 |80 |269g |2pcs
306442.304S | p48.3*26 | p424 | 80 (2689 |2pcs 306442.316S | p48.3*2.6 | p424 | 80 |268g |2pcs
306448.304S | p48.3*26 | p483 | 80 (2689 |2pcs 306.448.316S | (p48.3*2.6 | p48.3 | 80 |268g |2pcs
307450.304S | ¢50.8*2.0 | ¢50.8 | 80 {2829 |2pcs 307450.316S | p50.8*2.0 | 508 |80 |282g|2pcs
S

lo %

M5*16] M5 |16mm | 4pcs




Part No. Indicate

e — 1 Eg. 308.100.304.S

‘ I— Surface Finish 308: MOD NO.
Material 100: Flat tube

rieing Pipe 304: Material 304 SS

Tube type

MOD No. S: Satin/M: Mirror

Handrail brackets -MOD 308 (40*40*2.0)

Y]

304 Satin 316 Satin
Art.No D |o |H| W[ Art.No D |o |H| W[
3081003045 |40%40*20 (flat | 81 | 260g | 2pcs

Satin Satin
Art.No D  |H|l W | Art.No D  |H| W |

308.238.304.S | 404020 | (381 | 79 |2369|2pcs| | 308.238.316.S | 40*40*20 | @381 | 79 |236g|2pcs
308.242.304.S | 40*40*2.0 | @424 | 79 |235g|2pcs| | 308.242.316S | 40*40*2.0 | @424 | 79 |2359|2pcs
308.248.304.S | 404020 | @483 | 79 |2359|2pcs| | 308.248.316.S | 40*40*2.0 | @483 | 79 |235g|2pcs
308.250.304.S | 40*40*20 | 508 | 79 |2359|2pcs| | 308.250.316.S | 40*40*2.0 | @508 | 79 |235g|2pcs




«
-

304 Satin 316 Satin
Art.No D | |H| W |® ArtNo D |o |H| W|®
308.300.3045 |40*40*2.0 | flat| 81 | 253g | 2pcs 308.300.316.5 |40*40*2.0 |flat | 81 | 253g | 2pcs

304 Satin 316 Satin
ArtNo D o | Hlw |&® ArtNo D o |H|wW |
308.338.304.5 | 40*40+2.0| (38.1| 79 [235g| 2pcs 308.338.316.5 | 40*40+2.0| (38.1| 79 [235g| 2pcs
308.342.304.5 | 40*402.0| p424| 79 [2349| 2pcs 308.342.316.S | 404020 p424| 79 [234g| 2pcs

Accessories

lw“L

M5*16] M5 |16mm | 4pcs




Part No. Indicate

30 1107 Eg. 309.048.304.S5
‘ I— Surface Finish 309: MOD NO.
Material 048: Fitting Pipeo
304: Material 304 SS

MOD No.

S: Satin/M: Mirror

Handrail brackets -MOD309
MOD 309

3092383045 | 38.1*20|(p381|80(178g [2pcs | | 3092383165 | 38.1*20|38.1|80|178g | 2pcs
3002483045 | p483+20|p483(80| 246g| 2pcs | | 309248316 | p48.3+20|¢p483|80| 246| 2pcs
3000483045 | p483*26|p483(80] 255g| 2pcs | | 309.048316 | p48.3*26/¢p483[80| 2559 2pcs

l (§
2
M5*16] M5 |16mm | 4pcs




MOD 310

= 214

304 Satin

Art.No D H w | &

310242304 | p424*20 | 79 |202g| 2pcs
3102483045 | p483*2.0 | 80 |239g| 2pcs

316 Satin

Art.No D H w|&&®

310.242.316.S | p424*2.0 | 79 |202g|2pcs
310.248.316.S | p48.3*2.0 | 80 (239g|2pcs




Part No. Indicate

31117234 | 1 | | | Eg- 31 1 .1 00.304.5

‘ I— Surface Finish 31 1: MOD NO.
Matera! 100: Flat tube

riing Pibee 304: Material 304 SS

Tube type

MOD No. S: Satin/M: Mirror

Handrail brackets -MOD 311

Art.No Art.No
310.100.304.S| flat | 73 |147g 2pcs 310.100.316S| flat | 73 |147g 2pcs

Art.No Art.No
311.233.304.S| @33.7 | 71 [127g| 2pcs 311.233316S| @33.7 | 71 [127g| 2pcs
311.242304.S| @424 | 71 |125g| 2pcs 311.242316S| @424 | 71 |125g| 2pcs
311.248304.S| @483 | 71 |125g| 2pcs 311.248316S| @483 | 71 |125g| 2pcs
311.260.304.S| @603 | 71 [125g| 2pcs 311.260.316S| @603 | 71 [125g| 2pcs




316 Satin

> ArtNo ® H|w| &®
310.337.304S| @337 | 71 |124g| 2pcs 310.337.316S| @337 | 71 |124g| 2pcs
310.342.304S| @424 | 71 [121g| 2pcs 310.342.316S| @424 | 71 [121g| 2pcs
310.348304S| @483 | 71 |121g| 2pcs 310.348316S| @483 | 71 |121g| 2pcs
310.360.304S| @603 | 71 |121g| 2pcs 310.360.316S| @603 | 71 |121g| 2pcs

304 Satin 316 Satin
Art.No o |H|W| & Art.No  |H|W| &
310433.304S| @337 | 71 |124g| 2pcs 310433.316S| @337 | 71 |124g| 2pcs
310442304S| @424 | 71 |128g| 2pcs 310442316S| @424 | 71 |128g| 2pcs
310448304S| @483 | 71 |123g| 2pcs 310448316S| @483 | 71 |123g| 2pcs

Accessories

e o
M5*16] M5 |16mm | 4pcs




Wall flanges




Part No. Indicate

41 | [ ][ |

=

Eg. 401.033.304.S

401: MOD No.

033: Fittng Pipe®:33.7
304: Material 304 SS
S: Satin/M: Mirror

Surface Finish
Material

Fitting Pipe@
MOD No.

Wall flanges-MOD 401

J N

304 Satin 316 Satin
Art.No D o |H wW| && ArtNo D o |H wW| &>
401.033.304S| @41 | @337 (30|96g | 2pcs 401.033.316S| @41 | 9337 |30|96g | 2pcs
401.038.304S| @45.7| ¢38.1 |35 [129g| 2pcs 401.038.316.5| ¢45.7 | ¢38.1 |35 [129g| 2pcs
401.042.304S| @50 | @424 |35|143g 2pcs 401.042.316S| @50 | @424 |35 [143g| 2pcs
401.048304S| @56 | p48.3 35 [161g| 2pcs 401.048316S| @56 | 483 |35 [161g| 2pcs

Accessories




BBBBBBBBB




Adjustable handrail brackets




Part No. Indicate

sor1/2/3/4 ] |

=

Adjustable handrail brackets-MOD 501

Surface Finish

Material

Fitting Pipeg
Tube type
MOD No.

Eg. 501.100.304.S

501: MOD No.
100: Flat tube

304: Material 304 SS

S: Satin/M: Mirror

304 Satin 316 Satin

Art.No D  |H| W S Art.No D o |H| W S
501.100.304.S |33.7*2.0 | flat | 80 |204g | 2pcs 501.100.316.S | ¢33.7*2.0 | flat | 80 |204g | 2pcs
502.100.304.S |381*2.0 | flat | 81 |225g | 2pcs 502.100.316.S | ¢38.1*2.0 | flat | 81 |225g |2pcs
503.100.304.S |p424*2.0 | flat | 81 |246g | 2pcs 503.100.316.S | p424*2.0 | flat | 81 |246g | 2pcs
504.100.304.S |p424*26 | flat | 81 | 245g | 2pcs 504.100.316.S | p424*26 | flat | 81 |245g | 2pcs
505.100.304.S |p483*2.0 | flat | 82 |291g | 2pcs 505.100.316.S | ¢48.3*2.0 | flat | 82 |291g | 2pcs
506.100.304.S |p48.3*2.6 | flat | 82 |290g | 2pcs 506.100.316.S | 483*26| flat | 82 |290g | 2pcs
507.100.304.S |p50.8*2.0 | flat | 82 |306g |2pcs 507.100.316.S | (50.8*2.0 | flat | 82 |306g |2pcs

Accessories




304 Satin 316 Satin

Art.No D ® | H W| & Art.No D ® | H W| &
501.233.304.5 |33.72.0 | ¢33.7 |78 |185g |2pcs 501.233.316S |33.7*20 | ¢33.7 |78 |185g |2pcs
501.242.304S 33720 | @424 78 |183g |2pcs 501.242.316S |(33.7°20 | p424 |78 |183g |2pcs
502.238.304.5 |38.1%2.0 | ¢38.1 |79 |204g |2pcs 502.238.316.5 |(38.1%20 | ¢38.1 |79 |204g |2pcs
502.250.304.S |¢38.1*2.0 | ¢50.8 |79 |203g |2pcs 502.250.316.S |p38.1*2.0 | ¢50.8 |79 |203g |2pcs
503.242.304.5 |p424*20 | @424 |79 |226g |2pcs 503.242.316S |p424*20 | @424 |79 |226g |2pcs
503.248.304S |p424*20 | 9483 |79 |225g |2pcs 503.248.316S |(p424*20 | p483 |79 |225g |2pcs
504.242.304.5 |p424*26 | @424 |79 |225g |2pcs 504.242.316S |p424*26 | @424 |79 |225g |2pcs
504.248.304S |p424*26 | 9483 |79 |224g |2pcs 504.248.316S |(p424*26 | p483 |79 |224g |2pcs
504.260.304.5 |p424*26 | ¢60.3 |79 |224g |2pcs 504.260.316.S |p424*26 | ¢60.3 |79 |224g |2pcs
505.238.304.S |p48.3*2.0 | ¢38.1 |80 |269g |2pcs 505.238.316.S |p48.3*2.0 | ¢38.1 |80 |269g |2pcs
505.242.304.5 |p48.3*2.0 | p424 |80 |269g |2pcs 505.242.3165 |p48.3*20 | @424 |80 |269g |2pcs
505.248.304.5 |p48.3+2.0 | p48.3 |80 [269g |2pcs 505.248.316.5 |p48.3*2.0 | p48.3 |80 |269g |2pcs
506.242.304.S |p48.3*26 | p424 80 |270g |2pcs 506.242.316S |(p48.3*26 | p424 |80 |270g |2pcs
506.248.304.5 |(p48.3*2.6 | p48.3 |80 |269g |2pcs 506.248.316.5 |p48.3*26 | p48.3 |80 |269g |2pcs
506.260.304.5 |p48.3*2.6 | ¢60.3 |80 |268g |2pcs 506.260.316.S |p48.3*2.6 | 60.3 |80 [268g |2pcs
507.238.304.5 |p50.8+2.0 | 38.1 |80 |284g |2pcs 507.238.316.5 |50.8*2.0 | ¢38.1 |80 |284g |2pcs
507.250.304.5 |p50.8*2.0 | ¢50.8 |80 |282g |2pcs 507.250.316.S |(p50.8*2.0 | p50.8 |80 |282g |2pcs




Adjustable handrail brackets -MOD 508
For tube 040*40*2.0

Art.No

304

Satin

508.100.304.S

040*40*2.0

flat | 81

272g

2pcs

Art.No

316
D

Satin

5081003165

c40*40°20

2729

2pcs

Art.No

508.238.304.S

252g

2pcs

508.242.304.S

2529

2pcs

508.248.304.S

251g

2pcs

508.250.304.5

2499

2pcs

Art.No

5082383165

c40*40°20

252g

2pcs

5082423165

40%40+2.0

2529

2pcs

5082483165

c40*40°20

251g

2pcs

508.250.316S

040%40+2.0

2499

2pcs

Accessories




Handrail brackets - MOD 509
Part No. Indicate

500.1/2/3/4 ] 1 [] Eg. 509.100.304.S

‘ I_ Surface Finish 509: MOD No.
Material

faterial 100: Flat tube
Fitting Pipeg 304: Material 304 SS

Tube type

MOD No. S: Satin/M: Mirror

304 Satin

Art.No ® H| W S5}
509.100.304S| flat | 73 | 1449 | 2pcs

316 Satin

Art.No ® H| W >
509.100.316S| flat | 73 | 144g | 2pcs

304 Satin

AtNo | [H | W | &
509.233304S |p33.7| 71 | 125g | 2pcs
5002423045 |@424| 71 | 123g | 2pcs
5092483045 |483| 71 | 123 | 2pcs
5092603045 [p603| 71 | 123g | 2pcs

in
¢ |H| W | &

316
Art.No
509233.316S |p33.7| 71 | 125g | 2pcs
509.242316S |p424| 71 | 123g | 2pcs
509.248316S |p483| 71 | 123g | 2pcs
509260.316S |p60.3| 71 | 123g | 2pcs

Accessories ; <0 hﬁ/\ >
L9 | M6*10| M6 | 10mm | 2pcs

W &

l <@ M5*16] M5 | 16mm| 4pcs

Sat




Adjustable handrail brackets -MOD 510

Part No. Indicate

si0 || L] L]

‘ I— Surface Finish
Material

Fitting Pipea

MOD No.

D: 38.1*2.0

304

Satin
Art.No D ® H W | &

5102383045 |p381*20|¢p38.1 |50-100 | 4179 | 2pcs
510250.304.S |p38.1*20|p50.8 |50-100 | 414g | 2pcs

316

Satin
Art.No D () H W | &

510238316 |(p38.1*20 381 |50-100 |417g | 2pcs
510250316 |(p38.1*20 | p5038 [50-100 |414g | 2pcs

Eg. 510.238.304.S

510: MOD No.

238: Fitting pipe 9
304: Material 304 SS
S: Satin/M: Mirror




Adjustable handrail brackets -MOD 511

D: 50.8*2.0

304

Satin
Art.No D ® H W | & Art.No

| -4
el | ”
il

316 Satin
D | ¢ H | W | &

5112383045 [p508+20 [p38.1

50-100 |443g | 2pcs| | 511238316 p508+20 [p381 [50-100 [443g | 2pcs

5112503045 [p508+20 [p508

50-100 | 441g| 2pcs| | 5112503165 |p50.8+20 [p508 50-100 [441g | 2pcs

Accessories

@

P6520| 65| 20 | 2pcs

@

M8*12 | M8 | 12mm | 2pcs

M6*10| M6 | 10mm | 2pcs

I >

M5*16| M5 | 16mm | 4pcs




Adjustable handrail brackets -MOD 512

Part No. Indicate

512 |

‘ I— Surface Finish
Material

Fitting Pipeo

D: 38.1*2.0

MOD No.

Eg. 512.042.304.S

512: MOD No.

042: Fitting pipe 9
304: Material 304 SS
S: Satin/M: Mirror

304 Satin 316 Satin
Art.No D ® H W | & Art.No D ® H W | &
512042304 (p424*26 | 483 |50-100 |464g | 2pcs | | 5120423165 (p424*26 |p48.3 [50-100 (4649 | 2pcs
512.048304.S (p48.3*26 |(p483 |50-100 | 534g | 2pcs | | 512048316 (p48.3*26 |p48.3 |50-100 | 5349 | 2pcs

. 72N Spec. @ D

®6520| @65 20 | 2pcs

&

T

&
M8*12 | M8 | 12mm | 2pcs

@ m /@ M5*5 |M5 | 5mm | 4pcs

&

&
M6*10| M6 | 10mm | 2pcs




METRAKION



METRAKION



Adjustable Connectors

MOD6 60




.010 304 S )Y
MOD No. Fitting pipe Material Satin Mirror

304 Satin

Art.No D ¢ | HHW | &

601.010.304.S| ¢14.0 | @100 | 35 [49g | 6pcs
601.012.304.S| @160 | 120 | 36 [62g | 6pcs
601.014.304.5| ©180 | ¢14.0 | 37 | 78g | 6pcs

316 Satin
Art.No D ¢ | HHW | &
601.010.316.S | ¢14.0 | @10.0 | 35 |49g | 6pcs
601.012.316.S| 160 | @12.0 | 36 |62g | 6pCS
601.014.316.S | 180 | ¢14.0 | 37 | 78g | 6pcs

Accessories

&
M6*10| M6 |10mm | 6pcs




Adjustable Handrail Bracket Stem -MOD 602

ﬁ

el4

=7

5

304 Satin 316 Satin
Art.No (0) Hl W | & Art.No ® HI W | &
602.014.304.S| @140 | 68 | 89g | 2pcs 602.014.316S| ¢140 | 68 | 89g | 2pcs

Accessories

M6*10| M6 |10mm | 2pcs

&




Adjustable Connectors - MOD 603

MOD No. Fitting pipe Material Satin Mirror

Wall thickness2.0  Satin Wall thickness2.0 Satin

Art.No Art.No
603.233.304.S (p33.7*2.0 22 |326g | 2pcs 603.233.316.S cp33.7*2.0 22 |326g | 2pcs
603.242.304.S| @424*20 | 27 |579g | 2pcs 603.242.316S| @424*20 | 27 |579g | 2pcs
603.248.304.S| 48.3*20 | 30 | 828g | 2pcs 603.248.316.S| 48.3*20 | 30 | 828g | 2pcs

Wall thickness2.6  Satin Wall thickness2.6 Satin

Art.No Art.No
603.042.304.S (p42.4*2.6 27 | 5779 | 2pcs 603.042.316.5 (p42.4*2.6 27 | 5779 | 2pcs
603.048.304.S| ¢48.3*26 | 30 | 825g | 2pcs 603.048.316.S| 48.3*26 | 30 | 825g | 2pcs

Accessories

<

2
M8*25| M8 | 25mm| 2pcs




Adjustable Connectors - MOD 604

304 Wall thickness2.0 Satin 316 Wall thickness2.0 Satin
[0) H|W S 0] H |W S

Art.No Art.No

604.2383045| ¢38.1*20 | 27 |385g | 2pcs | | 604.2383165| 38.1*20 | 27 |385g | 2pcs
604.250.3045 | ¢50.8*2.0 |3175675g | 2pcs | | 604.250.3165| 50.8+2.0 |3175|675g | 2pcs

Accessories

2
M8*25| M8 | 25mm| 2pcs




Adjustable Connectors - MOD 605

MOD No. Fitting pipep Material Satin Mirror

Wall thickness 1.5  Satin Wall thickness 1.5 Satin

Art.No Art.No
605.138.304.S cp38.1*1.5 27 | 293g | 2pcs 605.138.316.S cp38.1*1.5 27 | 293g | 2pcs
605.142.304.S | @424*1.5 |30 | 374g | 2pcs 605.142.316S | p424*15 | 30 374g 2pcs
605.150.304.S | ¢50.8*1.5 474g | 2pcs 605.150.316.S | (50.8*1.5 2pcs

Wall thickness 2.0  Satin Wall thickness 2.0  Satin

Art.No Art.No
605.233.304.S cp33.7*2.0 22| 256g | 2pcs 605.233.316.S (p33.7*2.0 22| 2569 | 2pcs
605.238.304.S| 38.1*20 | 22| 323g | 2pcs 605.238.316S| ¢38.1*20 | 22| 323g| 2pcs
605.242.304.S | p424*2.0 | 27 | 3679 | 2pcs 605.242.316S| p424*20 | 27| 3679 | 2pcs
605.248.304.S| p48.3*20 | 30|482g | 2pcs 605.248.316S| ¢48.3*20 | 30| 482g | 2pcs

Wall thickness 2.6  Satin Wall thickness 2.6  Satin

Art.No Art.No
605.042.304.S cp42.4*2.6 27| 394g| 2pcs 605.042.316.S q)42.4*2.6 27| 394g| 2pcs
605.048.304.S| p48.3*26 | 33| 521g| 2pcs 605.048.316S| @48.3*26 | 33| 521g| 2pcs




Adjustable Connectors -MOD 606

Wall thickness 1.5  Satin Wall thickness 1.5 Satin

Art.No Art.No
606.142.304.S cp42.4*1.5 30| 360g| 2pcs 606.142.316.S (p42.4*1.5 30| 360g| 2pcs
606.148.304.S| ¢48.3*15| 35| 523g| 2pcs 606.148.316S| @48.3*1.5| 35| 523g| 2pcs
606.160.304.S| ¢60.3*1.5 | 40| 887g| 2pcs 606.160.316S| 60.3*1.5 | 40 | 887g| 2pcs

Adjustable Connectors -MOD 607

Wall thickness 1.5  Satin Wall thickness 1.5 Satin

Art.No Art.No
607.142.304.S cp42.4*1.5 30| 3769 2pcs 607.142.316.S (p42.4*1.5 30 | 3769 2pcs
607.148.304.S| ¢483*15| 35| 281g| 2pcs 607.148.316S| @48.3*15| 35| 281g| 2pcs
607.160.304.S| ¢60.3*1.5| 40| 914g| 2pcs 607.160.316S| ¢60.3*1.5 | 40 | 914g| 2pcs




Adjustable Connectors -MOD 608

MOD No. Fitting pipe Material Satin Mirror

Wall thickness 1.5  Satin Wall thickness 1.5 Satin

Art.No Art.No
608.140.304.S | 40*40*1.5 | 60 | 4779 2pcs 608.140.316.S | 40*40*1.5 | 60| 4779 2pcs

Adjustable Connectors -MOD 609

Wall thickness 1.5  Satin Wall thickness 1.5  Satin

Art.No Art.No
609.140.304.S | 40*40*1.5 | 60| 4979 | 2pcs 609.140.316.S | 40*40*1.5 | 60| 4979 | 2pcs




Adjustable Connectors -MOD 610

Wall thickness 1.5  Satin Wall thickness 1.5 Satin

Art.No Art.No
610.164.304.S| 60*40*1.5 | 60 | 611g 2pcs 610.164.316.S| 60*40*1.5 | 60 | 611g 2pcs

Adjustable Connectors -MOD 611

Wall thickness 1.5 Satin Wall thickness 1.5 Satin

Art.No Art.No
611.164.304.S| 60*40*1.5| 60| 645g| 2pcs 611.164.316.S| 60*40*1.5| 60| 645g| 2pcs




Adjustable Connectors-MOD 612

MOD No. Fitting pipe Material Satin Mirror

304 Satin 316 Satin

ArtNo |AdjustableAngle] D w | & ArtNo |AdjustableAngle] D w | &
612.141.304.S +70° 40*10*1.5 | 149g | 2pcs 612.141.316S +70° 40*10*15| 149g| 2pcs

Adjustable Wall Flanges -MOD 613

304 Satin 316 Satin
Art.No (0) D |H|W | & Art.No ® D |H| W >
613.233.304.5 |p33.7*2.0 |70 | 26 | 308g | 2pcs | | 613.233.316.S|p33.7¥2.0 |70 | 26 | 308g | 2pcs

613.242.304.5 [p42.4*2.0 |75 | 30 | 4189 | 2pcs | | 613.242.316.5|p424*20 |75 |30 | 418g | 2pcs
613.248.304.5 |p48.3*2.0 |80 | 33 | 5189 | 2pcs | | 6132483165 |p48.3*2.0 |80 |33 | 518g | 2pcs




METRAKION



METRAKION



End caps




End Caps-MOD 701

MOD Fitting Pipe Dimension Material Satin Mirror

40 20
" | D i}
Art.No D H| W S Art.No
701.020.304.5{40*20*2.0 | 21 | 58g 2pcs 701.020.316.S |40*20*20 | 21 | 58g 2pcs

o 40

Art.No
701.040.304.S|40*40*2.0 | 30 | 1079 2pcs
316 Satin
Art.No D H| W (S!
701.040.316.5|40*40*2.0 | 30 |107g 2pcs

—




End Caps-MOD 702

[

7

10

Wall thickness 1.5  Satin Wall thickness 1.5  Satin

Art.No

Art.No

702.138.304.S

(p38.1*1.5

29

899

2pcs

702.138.316.S

(p38.1*1.5

29

899

2pcs

Wall thickness2.0  Satin Wall thickness2.0  Satin

Art.No Art.No
702.233.304.S cp33.7*2.0 27 | 729 | 2pcs 702.233.316.S (p33.7*2.0 27 | 72g | 2pcs
702.238.304.S| 38.1*20 (29 [90g | 2pcs 702.238.316.S| 381*20 |29 | 90g | 2pcs
702.242.304S| @424*20 |31 |113g | 2pcs 702.242.316S| @424*20 (31 |113g | 2pcs
702.248.304.S| 48.3*20 (29 (1449 | 2pcs 702.248.316S| 48.3*2.0 |29 |144g | 2pcs
702.250.304.S | ¢50.8*2.0 (35 |162g | 2pcs 702.250.316.S | ¢50.8*2.0 (35 |162g | 2pcs

Wall thickness2.6  Satin Wall thickness2.6  Satin

Art.No Art.No
702.042.304.5 (p42.4*2.6 31 [124g | 2pcs 702.042.316.S cp42.4*2.6 31 | 124g| 2pcs
702.048.304.S | p48.3*26 |34 |176g | 2pcs 702.048.316S5 | p483*26 | 34 | 176g| 2pcs




End Caps -MOD 703

MOD Fitting Pipe ¢ Material Satin Mirror

304 Wall thicknessl.5 Satin 316 Wall thicknessl.5 Satin
Art.No P H|W Qo) Art.No ® HW W )

703.138.304.S| ¢38.1*15 |14 | 60g 2pcs 703.138.316S| ¢38.1*1.5 | 14 | 60g | 2pcs

703.150.304.S | 50.8*1.5 |14 | 989 2pcs 703.150.316.5| @50.8*1.5 | 14 | 98g | 2pcs

703.163.304.S| @63.5*15 |14 |129g | 2pcs 703.163.316.S| ¢@63.5*1.5 | 14 | 129g| 2pcs

304 Wall thickness2.0 Satin 316 Wall thickness2.0 Satin
Art.No P H|W & Art.No @ H|W S

703.233.304.S| ¢33.7*20 | 14 | 489 | 2pcs 703.233.316.S| ¢33.7*20 | 14 | 489 | 2pcs

703.238.304.S| ¢381*20 |14 | 58g | 2pcs 703.238.316.S| 381*20 |14 | 58g | 2pcs

703.242.3045| @424*20 |14 | 68g | 2pcs 703.242.3165| 942420 |14 | 68g | 2pcs

703.248.304S| ¢48.3*20 |14 | 83g | 2pcs 703.248.316S| 483*20 |14 | 83g | 2pcs

703.250.304.5| ©50.8*20 |14 | 92g | 2pcs 703.2503165| ©50.8+2.0 |14 | 92g | 2pcs

304 Wall thickness2.6  Satin 316 Wall thickness2.6  Satin
Art.No @ H| W ) Art.No P H| W &

703.042.304.S| 9424*26 | 14 | 69g | 2pcs 703.042.316.S| @424*26 | 14 | 69g | 2pcs

703.048.304.S| p48.3*26 | 14 | 84g | 2pcs 703.048.316.S| 483*26 | 14 | 84g | 2pcs




End Caps -MOD 704

P

T i mumm

Art.No Art.No
704.138.304.5 (p38.1*1.5 16 |57g | 2pcs 704.138.316.S (p38.1*1.5 16 |57g | 2pcs
704.142.304S| p424*15 | 16 |66g | 2pcs 704.142.316S| @424*15 | 16 |66g | 2pcs
704.150.304.5 (p50.8*1.5 16 |87g | 2pcs 704.150.316.S cp50.8*1.5 16 |87g | 2pcs
704.163.304.S | 63.5*1.5 122g | 2pcs 704.163.316.S | 63.5*1.5 122g | 2pcs
Art.No Art.No
704.233.304.5 (p33.7*2.0 16 |45g | 2pcs 704.233.316.S (p33.7*2.0 16 |45g | 2pcs
704.238.304.S | ¢38.1*20 | 16 |54g | 2pcs 704.238.316.S | ¢38.1*2.0 | 16 |54g | 2pcs
704.242.304S| p424*20 | 16 |64g | 2pcs 704.242.316S| 9424*20 | 16 |64g | 2pcs
704.248.304.S | ©48.3*20 |16 |78g | 2pcs 704.248.316S | ¢48.3*20 | 16 |78g | 2pcs
704.250.304.S| ¢50.8*20 | 16 |86g | 2pcs 704.250.316.S | ¢50.8*2.0 | 16 |86g | 2pcs
704.260.304.S | ©60.3*2.0 | 16 [109g | 2pcs 704.260.316.S | ¢60.3*2.0 | 16 [109g | 2pcs
304 Wall thickness2.6  Satin 316 Wall thickness2.6  Satin
Art.No [0) H|W S~ Art.No [0) H| W S5
704.042.304.5| @424*26 | 16 | 65g | 2pcs 704.042.316S| @424*26 | 16 | 659 | 2pcs
704.048.304.5| ¢48.3*26 | 16 | 799 | 2pcs 704.048.316.5| ¢48.3*26 | 16 | 79g | 2pcs




Handrail Parts-MOD 705

705 .238 304 S M
MOD Fitting Pipe @ Material Satin Mirror

e o

304 Wall thickness 2.0 Satin 316 Wall thickness 2.0 Satin

Art.No (0) H| W S Art.No ® H| W S

705.238.304.S| ¢38.1*20 |14 | 61g | 2pcs 705.238.316S| ¢38.1*20 |14 | 61g | 2pcs
705.242.304.S | 42420 |14 | 68g | 2pcs 705.242.316S| ©424*20 |14 | 68g | 2pcs
705.248.304.S| @48.3*20 |14 | 829 | 2pcs 705.248.316.S| @483*20 |14 | 829 | 2pcs
705.250.304.S| 50.8*20 |14 | 91g | 2pcs 705.250.316.S| ¢50.8*20 |14 | 91g | 2pcs

304 Wall thickness 2.6  Satin 304 Wall thickness 2.6  Satin

Art.No [0) H W S Art.No ® H W S

705.042.304.5 | p42.4*26 |14 |68g | 2pcs | | 7050423165 | @424*26 |14 |68g | 2pcs
705.048.304.5| p483*26 |14 |82g | 2pcs | | 7050483165 |@483*26 |14 |82g | 2pcs




Handprail Parts -MOD 706

304 Wall thickness 2.0  Satin 316 Wall thickness 2.0  Satin
Art.No ® H| W > Art.No ® H| W >
706.238.304.S| ®38.1*20 |155| 59g | 2pcs 706.238.316S | 38.1*20 |15.5| 59g | 2pcs
706.242.304S | @424*20 |155| 669 | 2pcs 706.242.316S | p424*20 |15.5| 669 | 2pcs
706.248.304.5 | 48320 [155| 79g | 2pcs 706.248316.5 | ¢48.3*20 [155| 79g | 2pcs
706.250.304.S | ¢50.8*2.0 [15.5| 87g | 2pcs 706.250.316.S | 50.8*20 [15.5| 879 | 2pcs
304 Wall thickness 2.6  Satin 304 Wall thickness 2.6  Satin
Art.No (0] H | W Sy Art.No (0) H | W S
706.042.304.S | p424*2.6 |155| 66g| 2pcs 706.042.316.S | p424*2.6 |15.5) 669 | 2pcs
706.048.304.5 | p48.3*2.6 |155) 78g| 2pcs 706.048.316.5 | p48.3*26 |155( 78g | 2pcs




Adapters-MOD 707

MOD Square Pipe Material Satin Mirror

&N 8!
S
\\\
-% 2
N
L <Y
Y
H
304 Satin 316 Satin
ArtNo [Fittingpipeo| D | H S ArtNo [Fitingpipeo| D | H >

707.000.304.S| Square |@35| 14 2pcs 707.000.316.S| Square |35 14 2pcs

Adapters-MOD 708

AT i
3 2 .
.
H
304 Satin 316 Satin
ArtNo [FitingPipep| D H S ArtNo [FitingPipeqp| D H >

708042304S| @424 | @35 | 14 | 2pcs | |708.042316S| @424 | @35 | 14 | 2pcs
708048304S| @483 | @35 | 14 | 2pcs | |708.048316S| @483 | @35 | 14 | 2pcs




METRAKION



MMMMMMMMM




Footrail brackets

00%




Tray Slide Bracket -MOD 801

MOD No. Fitting Pipe Material Satin Mirror

325

Art.No Art.No

801.025.304.S cp25.4 100 | 8489 |1pcs 801.025.316.S cp25.4 100 | 8489 |1pcs
801.038.304.S| 38.1 | 100 | 8389 |1pcs 801.038.316.S|38.1 | 100 | 838g |1pcs
Accessories l(((((((((( _

oY ( MOD d L >

(%,\ % ———

M4*8 M4 | 8mm | 3pcs

% N @ MOD | d L | &

M5*25 | M5 | 25mm | 3pcs




Footrail Bracket-MOD 802

304 Satin 316 Satin
Art.No @ H| W & Art.No [0) H| W S5
802.038.304.S| 381 | 200| 612g |2pcs 802.038.316S | 381 | 200 | 612g |2pcs
802.042.304.S | @424 | 200 | 694g |2pcs 802.042.316S | @424 | 200 | 694g |2pcs
802.050.304.S | 50.8 | 200 | 622g |2pcs 802.050.316.S | p50.8 | 200 | 622g |2pcs

Accessories ]

é@<@ MOD | d L | &

M4*4 M4 | 4mm | 2pcs

/%\m_.; @; MOD | d L | &
M5%25 | M5 |25mm | 6pcs




Footrail Bracket -MOD 803

MOD No. Fitting Pipe Material Satin Mirror

304 Satin 316 Satin
® H

Art.No (0) H L W S5 ArtNo L W S5

803.038.304.5 |p38.1 | 200 |225|692g | 2pcs | | 803038316 |p38.1 | 200 |225|692g | 2pcs
803.050.304.5 508 | 200 [225|728g | 2pcs | | 8030503165 |p50.8 | 200 |225 7289 | 2pcs

Accessories
< i @ MOD | d L | @
‘ M5*5 | M5 | 5mm | 2pcs
‘ <
%“““@ @ MOD | d L | &
M5*25 | M5 [25mm | 8pcs




Footrail Bracket-MOD 804

A

Art.No Art.No
804.038.304.S cp38.1 200 (180| 5529 2pcs 804.038.316.S (p38.1 200 (180| 5529 2pcs
804.042.304.S @424 | 205 [175| 596g| 2pcs || 804.042.316.S @424 | 205 |175| 596g| 2pcs
804.050.304.S |50.8 | 205 [180| 680g| 2pcs || 804.050.316.S |50.8 | 205 [180| 680g| 2pcs

P ]

@@@ MOD | d L | @

M5*5 | M5 | 5mm | 2pcs

/%\m. 8 @ MOD | d L | &
M5%25 | M5 |25mm | 8pcs




Footrail Bracket-MOD 805

MOD No. Fitting Pipe Material Satin Mirror

-
¢,
‘U’« >
\ V4
[?1 ) — !
304 Satin 316 Satin
Art.No [0) H | L S) Art.No (0) H | L S
805.033.304.S | ®33.7 | 135 | 150 | 2pcs 805.033.316.S | 33.7 | 135 | 150 | 2pcs
805.042.304.S | @424 | 150 | 150 | 2pcs 805.042.316.S | 424 | 150 | 150 | 2pcs
805.048.304.S | 9483 | 150 | 150 | 2pcs 805.048.316.S | p48.3 | 150 | 150 | 2pcs

304 Satin 316 Satin
® H

Art.No [0) H L (S5! Art.No L (Ss!
805.038.304.5| 381 | 200 | 180 | 2pcs 805.038.316.5|p38.1 | 200 | 180 | 2pcs
805.050.304.S| 50.8 | 150 | 150 | 2pcs 805.050.316.5 | 50.8 | 150 | 150 | 2pcs

Accessories

g @ MOD | d L | & é\m« é@‘fb MOD | d L | @

M5*5 M5 | 5mm | 2pcs M5*25 | M5 (25mm | 4pcs




Footrail Bracket-MOD 806

C

304 Satin 316 Satin
Art.No (0] H| W & Art.No (0) H| W S5
806.038.304.S| 381 | 180 | 372g |2pcs 806.038.316.5 | p38.1 | 180| 372g |2pcs
806.050.304.5 | ¢50.8 | 180 | 392g |2pcs 806.050.316.5 | 50.8 | 180 | 392g |2pcs

PR | ]
& @ MOD [d | L |®

M5*5 M5 | 5mm | 2pcs

B _

;%W_,\, @ MOD | d L | @
M5<25 | M5

25mm | 4pcs




Footrail Bracket-MOD 807

MOD No. Fitting Pipe¢p Material Satin Mirror

s 2.
304 Satin 316 Satin
Art.No (0] H | W S) Art.No (0] H|W S)
807.038.304.S | ®38.1 | 180 | 372g| 2pcs 807.038.316.S | 381 | 180 | 372g| 2pcs
807.042.304.S | p424 | 180 | 479g| 2pcs 807.042.316S| @424 | 180 | 479g| 2pcs
807.050.304.S | 50.8 | 180 | 392g| 2pcs 807.050.316.S | p50.8 | 180 | 392g| 2pcs

Accessories ]

M5*25 | M5 | 25mm | 6pcs




Ball Centre Post-MOD 808

p—
304 316 Satin
Art.No [0) H| W S) Art.No [0) H| W S)
808.025.304.5| 254 | 130 | 134g |2pcs 808.025.316.5| @254 | 130 | 134g |2pcs
808.038.304.5| ®38.1 | 130 |269g |2pcs 808.038.316.5| ®38.1 | 130 | 269g |2pcs

PO | ]
& @ MOD [d | L |®

M5*5 M5 | 5mm | 2pcs

%W,@MODO' L | @

M5*25 | M5 |25mm | 4pcs




Ball Centre Post -MOD 809

MOD No. Fitting Pipep Material Satin Mirror

304 316 Satin
Art.No ® H| W| & Art.No ® H W | &
809.019.304.S|¢19.0 | 45 |41g | 2pcs 809.019.316S|19.0 | 45 |41g | 2pcs
809.025.304.S | @254 | 55 |84g | 2pcs 809.025.316.S | 254 | 55 |84g | 2pcs
809.038.304.5|38.1 | 65 |217g| 2pcs 809.038.316.S|p38.1 | 65 |217g| 2pcs
809.050.304.5 | @50.8 | 84 |316g| 2pcs 809.050.316.S | 508 | 84 |316g| 2pcs

Accessories | ]
& @ MOD [ d | L |®

%\"‘““4@ @ MOD | d L | @

M5*25 | M5 [25mm | 4pcs




Ball Centre Post -MOD 810

]
o
=
[ 1 [ 1

Satin
Art.No ® H{D| W So Art.No (0] H{D| W &
810.033.304.S|@33.7 | 70 |34 | 300g (2pcs 810.033.316.S|33.7 | 70 |34 | 300g (2pcs
810.038.304.S| 381 | 70 |34 | 2929 |2pcs 810.038.316.S|38.1 | 70 |34 | 2929 (2pcs
810.042.304.S | @424 | 75 |35 | 2969 |2pcs 810.042.316S | @424 | 75 |35 | 2969 |2pcs
810.050.304.S| 50.8 | 75 |38 | 400g (2pcs 810.050.316.S|50.8 | 75 |38 | 400g (2pcs

PR | ]
& @ MOD [ d | L |®

/% aum,_,\,l @ MOD d L Ss)
M5*25 | M5

25mm | 4pcs




Ball End Post-MOD 811

MOD No. Fitting Pipe Material Satin Mirror

\

1)

Art.No Art.No
811.038.304.S cp38.1 70 | 44| 3159 |2pcs 811.038.316.S (p38.1 70 | 44| 315g |2pcs
811.042.304.5| @424 | 75 |46.5| 310g |2pcs 811.042.316S| @424 | 75 |46.5| 310g |2pcs
811.050.304.5|50.8 | 75 | 52| 430g |2pcs 811.050.316.S|50.8 | 75 | 52| 430g |2pcs

1 @

Accessories

g@<@ MOD | d | L |®

B _

<t @ MOD | d L | &
- ~ M5*25 | M5 | 25mm | 6pcs




METRAKION



MMMMMMMMM



Handrail bracktets




Handrail Bracket-MOD 901

MOD No. Fitting Pipe @ Material

Satin Mirror

Art.No

Fitting Pipe ¢

901.000.304.S

Square

187g

2pcs

Art.No

Fitting Pipe ¢

901.000.316.S

Square

187g

2pcs

{

Art.No Fitting Pipe ¢ Art.No Fitting Pipe ¢
901.042.304S| @424 170g 2pcs 901.042.316S| @424 170g 2pcs
901.048.304.S| 483 170g | 2pcs 901.048.316.S| 483 1709 | 2pcs
901.060.304.S| ¢60.3 170g | 2pcs 901.060.316.S| ¢60.3 170g | 2pcs

l -@ 4@\ MOD d L | & MOD d L | &
9 M5*16 | M5 |16mm |4pcs M5*25 | M5 |25mm | 6pcs




Handrail Bracket -MOD 902

Art.No

Fitting Pipe ¢

902.000.304.S

Square

267g

2pcs

eld

Art.No

Fitting Pipe ¢

902.000.316.S

Square

267g

2pcs

ol4

Art.No Fitting Pipe ¢ Art.No Fitting Pipe ¢
902.038.304.5| 381 248g 2pcs 902.038.316.S| @381 2489 2pcs
902.042.304S| @424 248qg | 2pcs 902.042.316S| @424 2489 | 2pcs
902.048.304.S| 483 2479 | 2pcs 902.048.316.S| 483 2479 | 2pcs

l <P 4@ MOD | d L | & MOD | d L | &
9 M5*16 | M5 | 16mm | 4pcs M5*25 | M5 |25mm | 6pcs




Handrail Bracket -MOD 903

MOD No. Fitting Pipep Material

Satin Mirror

s

212

ArtNo Fitting Pipe @ ArtNo Fitting Pipeg| W | &
903.000.304.S| Square 2009 2pcs 903.000.316.S Square |200g | 2pcs
\
)

ArtNo  |Fitting Pipe @ ArtNo  |FittingPipep| W | &
903.033.304.S| 33.7 ZOOg 2pcs 903.033.316.S| 33.7 200g | 2pcs
903.038.304.S| 381 193g | 2pcs 903.038.316.S| 381 193g | 2pcs
903.042.304.S| @424 199g | 2pcs 903.042.316.S| @424 199g | 2pcs
903.048.304.S| 483 198g | 2pcs 903.048.316.S| 483 198g | 2pcs
903.050.304.S| 508 192g | 2pcs 903.050.316.S| 508 192g | 2pcs

L - MOD | d L | & /@\ <tiisaf MOD | d L | &
9 5416 | M5 | 16mm| 4pcs . M5%25 | M5 |25mm | 6pcs




Handrail Bracket -MOD 904

304 Satin

316 Satin

ArtNo  |FittingPipep| W | & ArtNo  |FittingPipep| W | &
904.000.304.S| Square 2869 | 2pcs 904.000.316.S| Square |286g | 2pcs
904.042.304.S p424 286g | 2pcs 904.042.316.S p424 2869 | 2pcs
904.048.304.S 483 286g | 2pcs 904.048.316.S ®48.3 2869 | 2pcs

Accessories \
| G

MOD d

M5*25 | M5

25mm

4pcs




Handprail Bracket- -MOD 905

MOD No. Fitting Pipe Material Satin Mirror

@

304 Satin 316 Satin
Art.No Fitting Pipe@| W | & Art.No Fitting Pipe@| W | &
905.0383045| 381 |180g | 2pcs 905.0383165| 381 |180g | 2pcs
9050503045 @508 |190g | 2pcs 9050503165 @508 |190g | 2pcs

, MOD d L Sy

M5*16 | M5 | 16mm | 4pcs

MOD | d L | &
M5*25 | M5 [25mm | 6pcs




Handrail Bracket--MOD 906

@
68 7
304 Satin 316 Satin
Art.No Fitting Pipegp| W | & Art.No Fitting Pipegp| W | &
906.042304S| @424  |122g | 2pcs 906.042316S| @424  |122g | 2pcs

Accessories R
; =) MOD | d L | &

M5*16 | M5 | 16mm | 4pcs

")
z
o)
|w)
o
|
@

@12*65 | @12 | 65mm| 2pcs




Handrail Bracket -MOD 907

MOD No. Fitting Pipe Material Satin Mirror

—
%
304 Satin 316 Satin
ArtNo Fitting Pipe| W | & ArtNo Fitting Pipe| W | &
907.012.304.S| M10*20 184g | 2pcs 907.012.316.S| M10*20 184g | 2pcs

Accessories
MOD d L >

M5*25 | M5 |25mm | 6pcs




Handrail Bracket -MOD 908

304

Art.No

Satin

316

Art.No

Satin

908.013.304.S

1729

2pcs

908.013.316.5

1729

2pcs

Accessories

MOD

M5*25

M5

25mm

6pcs




Handprail Brackets -MOD 909

MOD No. Fitting Pipep Material Satin Mirror

108.8

304 Satin 316 Satin
Art.No D [0) H|w|&® ArtNo D [0) H | w | &
909.242.304.S| p42.4*2.0 | 424 | 108.8 | 704g|2pcs || 909.242.316.5| p42.4*2.0 | p42.4 | 108.8 | 704g| 2pcs

Q

Accessories ]

MOD d L >
M5*16 | M5 | 16mm | 4pcs




METRAKION




BBBBBBBBB



Adjustable handrail brackets




.000

ArtNo Fitting Pipe ¢ Art.No Fitting Pipe ¢
1001.000.304.S| Square 2659 2pcs 1001.000.316S| Square 2659 2pcs

f

— B g

214

ArtNo Fitting Pipe ¢ ArtNo Fitting Pipe ¢
1001.042.304.S @424 2459 2pcs 1001.042.316.S 424 2459 2pc5
1001.048.304.S p483 2449 | 2pcs 1001.048.316.S @483 244g | 2pcs

Accessories ]
L

1l 9 MOD [d | L |

" M6*10 | M6 |10mm | 2pcs

l -@ % MOD | d L | & é\““‘—« % MOD | d L | &

M5*16 | M5 [16mm |4pcs 7 M5*25 | M5 [25mm | 6pcs




Handrail Brackets -MOD 1002

304 Satin
ArtNo Fitting Pipe| W | &
1002.000.304.S|  Square 2659 | 2pcs

214

316 Satin
Art.No Fitting Pipe| W | &
1002000316S| Square | 265g| 2pcs

ol4

Art.No Fitting Pipe ¢ Art.No Fitting Pipe ¢
1002.042.304.S p424 2459 2pcs 1002.042.316.S 424 2459 2pcs
1002.048.304.S 483 244g | 2pcs 1002.048.316.5 @483 2449 | 2pcs

<P % MOD | d L | & i \ %@@ MOD | d L | &
M5*16 | M5 |16mm | 4pcs > . M8*50 [M8X12| 50mm | 2pcs




Handrail Brackets -MOD 1003

MOD No. Fitting Pipep Material Satin Mirror
v
| o
304 Satin 316 Satin
Art.No Fitting Pipe@| W | & Art.No Fitting Pipe@| W | &
1003.000.304.S| SquarePipe | 251g| 2pcs 1003.000.316.S| SquarePipe | 251g | 2pcs
304 Satin 316 Satin
ArtNo  [FittingPipep| W | & ArtNo  [Fitting Pipep| W | &
1003.038.304.S @381 2629 | 2pcs 1003.038.316.S p38.1 2629 | 2pcs
1003.042.304.S 424 2629 | 2pcs 1003.042.316S @424 2629 | 2pcs
1003.048304S| 483 | 262g | 2pcs 1003.048316S| @483 | 262g | 2pcs
gtz I
%Q @ MoD | d L | @
! M5*6 | M5 | 6mm | 2pcs
ﬁ \\\\\) @ MOD || L | d | ﬁ\ % MOD | d L | &
®94*35 | 94 | 35mm|M8*13| 2pcs - M8*50 [M8X12| 50mm | 2pcs




Handrail Brackets -MOD 1004

304 Satin

Art.No Fitting Pipe ¢

W |

1004.000.304.S| Square Pipe

2029 |2pcs

Accessories

316 Satin

Art.No Fitting Pipe ¢

W | &

1004.000.316S| Square Pipe

202g | 2pcs

9435 | 94 | 35mm|M8*13| 2pcs

MOD d L | &
M5*6 M5 | 6mm | 2pcs
MOD d L | &
M8*50 |M8X12| 50mm | 2pcs

MOD d

M5*25 | M5




Handrail Brackets-MOD 1005

114
MOD No. Fitting Pipe Material Satin Mirror

75

¥1e

304 Satin 316 Satin
Art.No W | & Art.No w | @
1005.114.304S| 194g | 2pcs 1005114.316S| 194g | 2pcs

Accessories

MOD d L >
M8*50 |M8X12| 50mm | 2pcs




Handrail Brackets -MOD 1006

00T
‘\

I
i

A

l
B 260

ArtNo  |Fitting Pipe @ ArtNo  |Fitting Pipep| W | &
1006.038.304.S 381 381g 2pCS 1006.038.316.S 381 381g | 2pcs
1006.042.304.S 424 3799 | 2pcs 1006.042.316.S @424 3799 | 2pcs
1006048304S| @483 | 3799 | 2pcs 1006048316S| @483 | 3799 | 2pcs
1006.050.304.S @508 3739 | 2pcs 1006.050.316.S ¢50.8 3739 | 2pcs

Accessories
MOD | d L | &
M5*6 M5 | 6mm | 2pcs
) ""@,,,M MOD d L @
’ M8*50 |M8X12| 50mm | 2pcs




Handprail Brackets-MOD 1007

1007

.000
MOD No. Fitting Pipep Material

304

)

M
Satin Mirror

2/

Art.No

Fitting Pipe ¢

1007.000.304.5

Square

3099

2pcs

=
225

Art.No

Fitting Pipe ¢

1007.000.316.5

Square

3099

2pcs




Wall-tube

5 ?
304 Satin 316 Satin
Art.No Fitting Pipegp| W | & Art.No Fitting Pipe| W | &
1007042304S| @424 | 2879 | 2pcs 1007042316S| @424 | 287g| 2pcs
1007.048.304.S @483 2879 | 2pcs 1007.048.316.S @483 2879 | 2pcs

. MOD | d L | & 4@\ MOD | d L | &
%Q @ l ") 9

M5*6 M5 | 6mm | 2pcs M5*16 | M5 [16mm |4pcs

% MOD | o L | & — % MOD | d L | &
/?E\ &

D6*35 @6 | 35mm | 6pcs - M5*38 | M5 | 38mm | 6pcs

‘ MOD | o L | & 2 s MOD | d L | &
%ﬁ [N -

©10*60 | @10 |60mm | 2pcs M8*50 (M8X12| 50mm | 2pcs




Adjustable Handrail Bracket-MOD 1008

MOD No. Fitting Pipe@ Material Satin Mirror

- 15 O
-~
S o
\¥
304 Satin 316 Satin
ArtNo Fitting Pipeg| H | W | & ArtNo Fitting Pipego| H | W | &

1008.000.304.S| Square (66-74| 4649 | 2pcs| | 1008.000.316S| Square |66-74| 4649 | 2pcs




o

~
%
4
\ ¥
304 Satin 316 Satin

Art.No FittingPipe| H | W | & Art.No FittingPipe| H | W | &
1008042304S| @424 6674 4599 | 2pcs| | 1008042316S| @424  |66-74| 459g | 2pcs
1008048304S| @483 6674 4599 | 2pcs| | 1008048316S| @483  |66-74| 459g | 2pcs
Tw @ MOD | d L | @ %ﬁ MOD [ | L | @
! M5*6 M5 | 6mm | 2pcs 6*35 @6 | 35mm | 6pcs
MoD | d L | @ % MOD | ¢ | L | @
M5*38 | M5 | 38mm | 6pcs ’ ®10*60 | @10 |60mm | 2pcs

M8X12




Adjustable Handrail Bracket-MOD 1009

038

MOD No. Fitting Pipe @ Material

Satin Mirror

@
4
==
g S
Y
304 Satin 316 Satin

ArtNo FittingPipe| H | W | & ArtNo FittingPipep| H | W | &
1009.038.304.S 381 30-80| 3899 | 2pcs 1009.038.316.S 381 30-80| 3899 | 2pcs
g@ MOD | d L | ® %Q@ MoD | d L | ®
! M5*5 | M5 | 5mm | 2pcs ‘ M5* | M5 | 6mm | 2pcs

d

§ % MOD
| e ,
(AN e M8*50

M8X12

50mm

2pcs

d L | &

l - % MOD

M5*16

M5

16mm

4pcs




Adjustable Handrail Bracket -MOD 1010

250

@
==
g ,
L]
57

304 Satin 316 Satin
ArtNo FittingPipep| H | W | & ArtNo Fitting Pipego| H | W | &
1010.038.304.S 381 30-80| 3889 | 2pcs 1010.038.316.S p38.1 30-80| 388g | 2pcs

Accessories

%Q @ MOD

M5*6

6mm

2pcs

MOD

M5*5

2pcs

§ % MOD
i
IS “ | meso

M8X12

2pcs

| % MOD

M6*10

10mm

2pcs

l <@ 9‘ MOD

M5*16

4pcs




Adjustable Handrail Bracket-MOD 1011

MOD No. Fitting Pipe@ Material Satin Mirror
O
S | R
304 Satin 316 Satin
ArtNo Fitting Pipego| H | W | & Art.No Fitting Pipego| H | W | &
1011.000.304S| Square |30-80| 510g | 2pcs| | 1011.000.316S| Square 30-80| 510g | 2pcs




Art.No Fitting Pipe ¢ Art.No Fitting Pipe ¢
1011.038.304.5 @381 30-80 4909 2pcs 1011.038.316S @381 30-80 490g 2pcs
1011.042.304.5 @424 30-80| 490g | 2pcs| | 1011.042.316S @424 30-80| 490g | 2pcs
1011.048.304.5 @483 30-80| 490g | 2pcs| | 1011.048316S @483 30-80| 490g | 2pcs
1011.050.304.5 5038 30-80| 489g | 2pcs| | 1011.050.316.S ¢50.38 30-80| 4899 | 2pcs
1011.060.304.5 60.3 30-80| 448g | 2pcs| | 1011.060.316.S ¢60.3 30-80| 4489 | 2pcs

Accessories

& W @ MOD | d L@ | B« @ MOD | d L | @
' M5*5 M5 | 5mm | 2pcs ' M5*6 M5 | 6mm | 2pcs
E ] L
, . .
1~ Q@@ MOD | d L | & ; -Q %
: . M8*50 |M8X12| 50mm | 2pcs M5*16 | M5 [16mm |4pcs




Adjustable Handrail Bracket -MOD 1012

.000
MOD No. Fitting Pipep Material

Satin  Mirror

O0
80
304 Satin 316 Satin
ArtNo Fitting Pipego| H | W | & ArtNo Fitting Pipego| H | W | &
1012.000.304S| Square 30-80| 510g | 2pcs 1012.000.316.S Square  |30-80| 510g | 2pcs




225

@
80

304 Satin 316 Satin

ArtNo FittingPipep| H | W | & ArtNo FittingPipe| H | W | &
1012.038.304.S 381 30-80| 4899 | 2pcs 1012.038.316.S 381 30-80| 4899 | 2pcs
1012042304S| @424  |30-80| 4899 | 2pcs| | 1012042316S| @424  |30-80| 4899 2pcs
1012048304S| 483  |30-80| 4899 | 2pcs| | 1012048316S| @483  |30-80| 4899 2pcs
1012050304S| 508  |30-80| 487g | 2pcs| | 1012050316S| 508  |30-80| 487 2pcs
1012060304S| 603  |30-80| 443g | 2pcs| | 1012060316S| @603  |30-80| 443g| 2pcs

Accessories é @ @ MoD | d L | &

M5*5 M5 | 5mm | 2pcs

W < MoD | d L | @ E e MOD | d L | ®

M5*6 M5 | 6mm | 2pcs M8*50 |M8X12| 50mm | 2pcs

1< % oo |d | L@ | o 9 MOD | d | L |

M6*10 | M6 |10mm | 2pcs M5*16 | M5 [16mm |4pcs




MOD No. Fitting Pipe Material

Handrail Bracket -MOD 1013

Satin Mirror

<

304 Satin 316 Satin
Art.No D |Fitting Pipen| W | & Art.No D |Fitting Pipen| W | &
1013.000.304.S |Square | Square 219g| 2pcs| | 1013.000.316.S |Square | Square 219g| 2pcs




304 Satin 316 Satin

Art.No D |Fitting Pipep| W 2 Art.No D |Fitting Pipep| W 2
1013.042.304.S |Square | @424 198g| 2pcs 1013.042.316.S |Square | @424 198g| 2pcs
1013.048.304.S |Square | ¢48.3 198g| 2pcs 1013.048.316.S |Square | ¢48.3 198g| 2pcs

Accessories
v @

| TN MoD | d L | & . Z
iw—w % O o G

M8*40 | M8 [40mm | 2pcs M5*16 | M5 [16mm |4pcs




Handrail Bracket -MOD 1014

.000
MOD No. Fitting Pipe Material Satin Mirror

15

o

50

225

304 Satin 316 Satin

Art.No D |Fitting Pipen| W | & Art.No D |Fitting Pipen| W | &
1014.000.304.S | @424 Square |221g|2pcs 1014.000.316.S | @424 Square |221g|2pcs




75

\
LY.

50
@25

(]

304 Satin 316 Satin
Art.No D |Fitting Pipep| W 2 Art.No D |Fitting Pipep| W 2
1014.042.304.S | 9424 @424 200g|2pcs 1014.042.316.S | p42.4 @424 200g|2pcs
1014.048.304.S |p42.4 p48.3 200g|2pcs 1014.048.316.S | @424 9483 200g|2pcs
P ]
%Q <@ MOD | d L | &
' M5*6 | M5 | 6mm |2pcs

N

40mm

MOD d

®l@e%

2pcs

M5*16 | M5

16mm

4pcs




Handrail Bracket -MOD 1015

MOD No. Fitting Pipe Material Satin Mirror

75

50

225

304 Satin 316 Satin

Art.No D |Fitting Pipen| W | & Art.No D |Fitting Pipen| W | &
1015.000.304.S | 483 Square |221g|2pcs| | 1015.000.316.S | p48.3 Square |221g|2pcs




\
%

50
@25

Q

304 Satin 316 Satin
Art.No Fitting Pipeqp| W | & Art.No Fitting Pipeqp| W | &
1015.042.304.S | ¢48.3 @424 |200g(2pcs | | 1015.042.316.S | ¢48.3 @424  |200g| 2pcs
1015.048.304.S | ¢48.3 @483 |200g|2pcs| | 1015.048.316.S | (483 @483  [200g| 2pcs

Accessories

I

2pcs

v @

MOD

M5*6

M5

6mm

2pcs

lo &

MOD

M5*16

16mm

4pcs




Adjustable Handrail Bracket -MOD 1016

.000
MOD No. Fitting Pipe Material Satin Mirror

0
=<1
D
80 _
304 Satin 316 Satin
Art.No D |Fitting Pipen| W | & Art.No D |Fitting Pipen| W | &

1016.000.304.S |Square | Square |446g|2pcs 1016.000.316.S |Square | Square |446g|2pcs




y'i

80
316 Satin
D

Art.No D |Fitting Pipeqp| W | & Art.No Fitting Pipeqp| W | &
1016.042.304.S |Square p424 | 4269|2pcs 1016.042.316.S |Square @424 | 4269|2pcs
1016.048.304.S |Square p48.3 | 4269|2pcs 1016.048.316.S |Square ®48.3 | 4269g|2pcs

@

304 Satin

Accessories :
é e @ MoD | d L | &

M5*5 M5 | 5mm | 2pcs

%M @ MoD | d L | @ i‘ %@ MOD | d L | &

M5*6 M5 | 6mm | 2pcs M8*40 | M8 |40mm | 2pcs

i< % voo | d | L@ | o 9 MOD | d | L |®

M6*10 | M6 | 10mm | 2pcs M5*16 | M5 [16mm |4pcs




Adjustable Handrail Bracket -MOD 1017

.000

MOD No. Fitting Pipe Material Satin Mirror

=
P A
225

Art.No Fitting Pipeg Art.No Fitting Pipeg
1017.000.304.S cp42.4 Square 449g 2pcs 1017.000.316.S cp42.4 Square 449g 2pcs




304 Satin 316 Satin

Art.No D |Fitting Pipeqp| W | & Art.No D |Fitting Pipeq| W | &
1017.042.304.S | @424 @424  |428g| 2pcs| | 1017.042.316.S | @424 @424 |428g| 2pcs
1017.048.304.S | 424 @483  |427g| 2pcs| | 1017.048.316.S | @424 @483  |4279g| 2pcs

Accessories :
é & @ MOD | d L | ®

M5*5 M5 | 5mm | 2pcs

%M @ MoD | d L | & i _— /ff(/(ﬁ MOD | d L | &
* M8

M5*6 M5 | 6mm | 2pcs M8*40 40mm | 2pcs

i< % voo | d | L@ § o 9 MOD | d | L |

M6*10 | M6 | 10mm | 2pcs M5*16 | M5 [16mm |4pcs




Adjustable Handrail Bracket -MOD 1018

.000
MOD No. Fitting Pipe Material Satin Mirror

=
B
225

Art.No Fitting Pipeg Art.No Fitting Pipep
1018.000.304.S (p48.3 Square 30-80 4069 2pcs 1018.000.316.S (p48.3 Square 30-80 4069 2pcs




304 Satin 316 Satin
Art.No D [FittingPipee| H | W | & Art.No D [|FitingPipep| H | W | &
1018.048.304S | p48.3| @483  |30-80| 4279 | 2pcs || 1018.048.316.5 |p48.3| @483  |30-80| 4279 | 2pcs
1018.060.304.5 | p483| 603  |30-80 | 384g | 2pcs || 1018.060.316. [@48.3| @603  [30-80 | 384g | 2pcs

Accessories

@ -Q

MOD

M5*5

2pcs

T @ MoD | d L | & i‘ ' MoD | d L | &
! M5*6 M5 | 6mm | 2pcs M8*40 | M8 |40mm | 2pcs

Qw%

MOD

d L | &

M6*10

M6

10mm

2pcs

leo

MOD

M5*16

16mm

4pcs




Adjustable Handrail Bracket -MOD 1019

MOD No. Fitting Pipep Material

.000

Satin  Mirror

O
==
B
D/
80
304 Satin 316 Satin
Art.No D [ittingPipeo| H | W | & Art.No D [ittingPipeo| H | W | &
1019.000.304.S [Square| Square  |30-80| 403g |2pcs 1019.000.316.S [Square| Square  |30-80| 403g |2pcs




225

@
/] K
80 _

316 Satin
D

Art.No D Fitting Pipep| H w| & Art.No Fitting Pipep| H w| &
1019.042.304.S | Square| @424 (30-80|427g | 2pcs 1019.042.316.S | Square| @424 (30-80|427g | 2pcs
1019.048.304.S | Square| @48.3 [30-80| 4279 | 2pcs 1019.048.316.S | Square| @48.3 [30-80| 4279 | 2pcs

Satin

Accessories

MOD | d L&
M5*%6 | M5 | 6mm | 2pcs

e @ -©
|l &

M5*16 | M5 [16mm |4pcs




Adjustable Handrail Bracket -MOD 1020

038

MOD No. Fitting Pipe @ Material

Satin  Mirror

225

)
80

304 Satin 316 Satin
Art.No D [FittingPipep| H | W | & Art.No D [FittingPipep| H | W | &
1020.038.304.5 |p38.1| @381 |30-80|429g|2pcs | | 1020.038.3165 381 381 |30-80| 4299 |2pcs
1020.050.304.S |p38.1| @50.8 |30-80|428g|2pcs | | 1020.050.316S |@381| @508 |30-80 | 4289 |2pcs

Accessories

° @

v @

MOD

M5*6

2pcs

=
I—

'/f(

lo &

MOD

M5*16

16mm

4pcs




Adjustable Handrail Bracket -MOD 1021

MOD No. Fitting Pipe Material

Satin  Mirror

]
=
©|
D

304 Satin 316 Satin
Art.No D [|FitingPipen| H | W | & Art.No D [FitingPipen| H | W | &
1021.000.304.S [p42.4| Square 30-80| 448g| 2pcs 1021.000.316.S [ p42.4| Square 30-80| 448g| 2pcs

@
§‘ !i D v 2 [

304 Satin 316 Satin
Art.No D [FitingPipep| H | W | & Art.No D |FitingPipep| H | W | &
1021.042.304S | p42.4| @424 |30-80|429g |2pcs | | 1021.042.316S (@424 @424  |30-80|429g |2pcs
1021.048.304S |p424| @483  |30-80(429g |2pcs | | 1021.048316S [@424| @483  |30-80 (4299 |2pcs

Accessories

MOD

M5*5

2pcs

v @

MOD

M5*6

6mm

2pcs

° @

MOD

M8*40

40mm

2pcs

1o &

MOD

M5*16

16mm

4pcs




MOD No. Fitting Pipep Material

Adjustable Handrail Bracket -MOD 1022

Satin Mirror

ad
==
I
=
> /
80
304 Satin 316 Satin
Art.No D [FitingPipen| H | W | & Art.No D [|FitingPipen| H | W | &
1022.000.304.S (p48.3| Square 30-80| 448g| 2pcs 1022.000.316.S [p48.3| Square |30-80| 448g|2pcs




304 Satin 316 Satin

Art.No D [Fitting Pipep| H w S Art.No D [Fitting Pipep| H w S5
1022.038.304.S | p483| @381  [30-80|428g| 2pcs | | 1022.038.316.S |p48.3| @381  [30-80 | 428g| 2pcs
1022.042.304.S [ p48.3| @424 30-80| 4299 | 2pcs 1022.042.316.S |p48.3| @424 30-80| 4299 | 2pcs
1022.048.304S |@48.3| @483  |30-80|429g|2pcs | | 1022.048.316.5 |p48.3| @483  [30-80| 429g | 2pcs
1022.060.304.5 | 483| @603  |30-80| 385g| 2pcs | | 1022.060.316.S |p483| 603  |30-80| 385g | 2pcs

Accessories
% b @ MOD | d L | & %V <@ MOD | d L | &

' ! M5*5 | M5 | 5mm | 2pcs ! M5*6 M5 | 6mm | 2pcs

Ev_’ '/(((//(ﬁ

MOD

d L | &

M8*40

M8

40mm

2pcs

lo g

M5*16

M5

16mm

4pcs




Adjustable Handrail Bracket -MOD 1023

MOD No. Fitting Pipe¢p Material Satin Mirror

T @

Art.No Fitting Pipe Art.No Fitting Pipe@
1023.038.304.S @381 [30-80 5449 2pcs 1023.038.316.S @381 [30-80 5449 2pcs

Accessories

d S5

S | . MOD | d L | & L MOD
%@ - A= 1

M5*5 M5 | 5mm | 2pcs M8*50 | M8 [50mm | 2pcs

D (= MOD D & - ‘ MoD | d S2
B g l @

P48*pl3| @48 | @13 | 4pcs M5*16 | M5 |16mm |4pcs




Adjustable Handrail Bracket -MOD 1024

bl

304 Satin 316 Satin
Art.No Fitting Pipep| H | W S5 Art.No Fitting Pipep| H | W S
1024.038.304.S 381 30-80 |546g| 2pcs 1024.038.316.S 381 30-80 |546g| 2pcs

Accessories

&w%

MOD

M6*10

M6

10mm

2pcs

e <©

MOD

M5*5

M5

5mm

2pcs

L
I %

MOD

M8*50

M8

50mm

2pcs

4)/’\-\

[V

MOD

4813

®l3

4pcs

1o @

MOD

M5*16

M5

16mm

4pcs




Adjustable Handrail Bracket -MOD 1025

MOD No. Fitting Pipe Material

Satin Mirror

Art.No

Fitting Pipeo

Art.No

Fitting Pipeo

1025.000.304.S

Square

30-80

6609

2pcs

1025.000.316.S

Square

30-80

6609

2pcs




Ll

Art.No Fitting Pipe Art.No Fitting Pipeg
1025.038.304.S 9381 30-80 6409 2pcs 1025.038.316.S 9381 30-80 6409 2pcs
1025.042.304.S 424 30-80|641g| 2pcs 1025.042.316.S 424 30-80|641g| 2pcs
1025.048.304.S ®483 30-80|640g| 2pcs 1025.048.316.S ®48.3 30-80|640g| 2pcs
1025.050.304.S 9508 30-80|639g| 2pcs 1025.050.316.S 9508 30-80|639g| 2pcs
1025.060.304.S 960.3 30-80|640g| 2pcs 1025.060.316.S 60.3 30-80|640g| 2pcs

Accessories

g@@ MOD | d L | & % % MOD | d L | @

M5*5 M5 | 5mm | 2pcs M8*50 | M8 [50mm | 2pcs

] L
MOD D ¢ | ; @ Q MOD | d L | &

P48*pl3| @48 | @13 | 4pcs M5*16 | M5 |16mm |4pcs

7\

\

N/
Tles




Adjustable Handrail Bracket -MOD 1026

MOD No. Fitting Pipe Material Satin Mirror

a
82
304 Satin 316 Satin
Art.No FittingPipeo| H | W | & Art.No Fitting Pipeo| H | W | &

1026.000.304.S Square  |30-80|660g| 2pcs 1026.000.316.S Square  |30-80|660g| 2pcs




BT

@

Art.No Fitting Pipep| H | W S Art.No Fitting Pipegp| H | W S
1026.038.304.S p38.1 30-80|640g| 2pcs 1026.038.316.S p38.1 30-80 |640g| 2pcs
1026.042.304.S @424 30-80|640g| 2pcs 1026.042.316.S @424 30-80 |640g| 2pcs
1026.048.304.S 483 30-80(639g| 2pcs 1026.048.316.S 483 30-80(639g| 2pcs
1026.050.304.S ®50.8 30-80(637g| 2pcs 1026.050.316.S ®50.8 30-80(637g| 2pcs
1006.060.304.S ©60.3 30-80|639g| 2pcs 1006.060.316.S 960.3 30-80|639g| 2pcs

Accessories

MOD

M6*10

M6

10mm

2pcs

e -©

MOD

M5*5

M5 | 5mm | 2pcs

L
I%

MOD

M8*50

M8 [50mm

2pcs

N
Vi MOD

P48*pl3

pl3

4pcs

s

MOD

M5*16

M5 |16mm | 4pcs




Adjustable Handrail Bracket -MOD 1027

MOD No. Fitting Pipe Material

Satin Mirror

7

Art. No

Fitting Pipeo

Art. No

Fitting Pipeo

1027.000.304.S

Square

50

373g

2pcs

1027.000.316.S

Square

50

373g

2pcs




304 Satin 316 Satin
Art.No Fitting Pipep| H | W | & Art.No Fitting Pipep| H | W | &
1027.033.304.S ®33.7 50 |[355g| 2pcs 1027.033.316.5 @337 50 |[355g| 2pcs
1027.038.304.S p38.1 50 [354g| 2pcs 1027.038.316.S p38.1 50 [354g| 2pcs
1027.042.304.S @424 50 |354g| 2pcs 1027.042.316.S @424 50 |354g| 2pcs
1027.048.304.S 9483 50 |[354g| 2pcs 1027.048.316.S (483 50 [354g| 2pcs
1027.050.304.5 ¢50.8 50 [353g| 2pcs 1027.050.316.S ¢50.8 50 [353g| 2pcs

Accessories

M

| @)
/
V

MOD

P48*pl3

48

@13

4pcs

L
l % %

MOD

M8*50

50mm

2pcs

lo &

MOD

M5*16

M5

16mm

4pcs




Adjustable Handrail Bracket -MOD 1028

MOD No. Fitting Pipep Material Satin Mirror

304 Satin 316 Satin

Art.No Fitting Pipen| H | W | & Art.No Fitting Pipen| H | W | &
1028.000.304.S | Square 57 |382g| 2pcs 1028.000.316.S | Square 57 |382g| 2pcs




304 Satin 316 Satin
Art.No Fitting Pipep| H | W | & Art.No Fitting Pipep| H | W | &
1028.042.304.S @424 57 |362g| 2pcs 1028.042.316.S @424 57 [362g| 2pcs
1028.048.304.S p48.3 57 |362g| 2pcs 1028.048.316.S p48.3 57 [362g| 2pcs

Accessories

., Qja) 4 MOD

> M8*50

M8

50mm

2pcs

P48*pl3

M5

16mm

4pcs




MMMMMMMMM




Baluster brrackets




Baluster Brackets-MOD 1101

1101 033 .304 S M
MOD No. Fitting Pipe ¢ Material Satin Mirror

304 Satin 316 Satin
ArtNo. ® HH W Q) Art No. ® Hl W Q)
1101.033.304.S|p33.7 | 62 |1204g | 1pcs 1101.033.316.5|p33.7 | 62 [1204g | 1pcs
1101.038.304.S|p38.1 | 66 |1200g | 1pcs 1101.038.316.S|p38.1 | 66 [1200g | 1pcs
1101.042.304.S|p424 | 66 |1210g | 1pcs 1101.042.316.S|@p424 | 66 [1210g | lpcs
1101.048.304.5|p48.3 | 69 |1300g |1pcs 1101.048.316.5|p48.3 | 69 |1300g |1pcs
1101.050.304.5|50.8 | 69 [1303g | 1pcs 1101.050.316.5|50.8 | 69 [1303g | 1pcs

Accessories

- = >
Pan T M8*16 | M8 | 16mm | 2pcs M8*35 | M8 | 35mm | 2pcs
% ) 82 W e &
D« M8*25 | M8 | 25mm | 2pcs ey, R M8*165| M12 | 165mm| 2pcs




Baluster Brackets -MOD 1102

304 Satin
Art No. ® Hl W ) Art No.

316 Satin
¢ HIl W | &

1102.038.3045 | p38.1 | 885 | 2900g | 1pcs | | 1102.038316S | ¢38.1 | 885 | 2900g | 1pcs
1102.042.304S | p424 | 885 | 2973g | 1lpcs | | 1102.042.3165S | @424 | 885 | 2973g | 1pcs
1102.048.304S | p483 |925 | 3029g | 1pcs | | 1102.048316S | @483 | 925 | 30299 | 1pcs
1102.050.304.5 | p50.8 |92.5 | 3032g | 1pcs | | 1102.050.316S | ¢50.8 | 925 | 30329 | 1pcs

@ (o SR | .=
7 [o12418| @12] 18mm | 1lpcs < M8+35 | M8 | 35mm | 2pcs

& W e &

M10*50| M10 | 50mm | 2pcs e, 7 [Mg165| M12 | 165mm| 2pcs




Baluster Brackets -MOD 1103

1103 .040 304 S M
MOD No. Fitting Pipe ¢ Material Satin Mirror

A

Art No. Art No.
1103.040.304.S | 40*40 | 695 | 1450g | 1pcs 1103.040.316S | 40*40 | 695 | 1450g | 1pcs

Accessories

& &
M8*16 | M8 | 16mm | 2pcs M8*35 | M8 | 35mm | 2pcs

S2 i T S2
M8*25 | M8 | 25mm | 2pcs e, 7 |M84165| M12| 165mm| 2pcs




METRAKION



METRAKION




Glass clamps

MOD12 120




Glass Clamp — MOD 1200

Part No. Indicate

1200. ] [J g -
‘ I— Surface Finish
Material [ o) <
Fitting Pipeg /:‘V N
MOD No. 16 |
20
50

Eg. 1200.038.304.S
1200: MOD No.
038: Fittng Pipe®:38.1  304: Material 304 SS S: Satin

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin @y S
Art.No Width Glass Thickness Screw | Packing unit
1200.000.304.S | 24mm | Depend on the rubberinlay | M8*20 4pcs
316 Satin @p Ss)
Art.No Width Glass Thickness Screw | Packing unit
1200.000.316.S | 24mm depend on the rubberinlay| M8*20 4pcs

Hexagon socket countersunk head cap screw

!

Accessories
MOD Thread | Length | Packing unit

M6*16 M6 16mm 8pcs

Hexagon socket head cap screw [S5]

MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

!

Rubber inlay & Glass Single layer Glass
RubberMOD |  Glass thickness | Packing unit
1200-06 1/4"(6mm) 8pcs

1200-08 5/16"(8mm) 8pcs

!

Multilayer glass
Rubber MOD |  Glass Thickness Packing unit
1200-07 | 1/4"(6.76mm) 8pcs

1200-09 | 5/16'(8.76mm) 8pcs




MOD 1200 -Arc

g 3
(
// p
e L
16
20
50
304  Satin @ S Accessories
ArtNo Fitting pipe ® Glass Thickness Screw | Packing unit
1200.033.304.S ®33.7 Depends on the rubberinlay |M8*20|  4pcs =
T =
1200.042.304.S p424 Depends on the rubberinlay |M8*20|  4pcs — R R
4 @
316 Satin @@ S5
ArtNo Fitting pipe ® Glass Thickness Screw | Packing unit
1200.033.316.S ©337 Depends on the rebberinlay [M8*20|  4pcs MOD |Diameter|Height | Packing unit
1200.042.316.S @44 Depends on the rubberinlay [M8*20|  4pcs PGM-13| 13mm [4.5mm| 8pcs
>
4 O Y0 @ @
3
=X
<
=
1
-
c
2.
o
=}




Glass Clamp — MOD 1201

MOD 1201 Flat

Part No. Indicate

1201 ] 1]

e

Surface Finish
Material

Fitting Pipeg

Eg. 1201.038.304.S

1201: MOD No.

038: Fittng Pipe®:38.1

304: Material 304 SS
S: Satin/M: Mirror

MOD No.

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

Accessories

304

45

Satin

28

16
20

45

Art. No Width| Glass thickness Screw Packing unit
1201. 000. 304. S| 28mm| Depend on the rubber inlay M8*20 4pcs
316 Satin
Art. No Width| Glass thickness Screw Packing unit S5
1201.000. 316. S| 28mm| Depend on the rubber inlay M8*20 4pcs

Hexagon socket countersunk head cap screw

e

{! K’: “ MOD Thread | Length | Packing unit
M6*16 M6 16mm 8pcs
Hexagon socket head cap screw @

g % MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber inlay & Glass

S

Single layer glass S2

Rubber MOD Glass thickness | Packing unit
1201-06 1/4"" (bmm) 8pcs
1201-08 5/16"" (8MM) 8pcs
1201-10 3/8"" (10MM) 8pcs

Rubber MOD

Glass thickness

Multilayer glass S5

Packing unit

1201-07

1/4" " (6. 76mm)

8pcs

1201-09

5/16"" (8. 76mm)

8pcs




MOD 1201 -Arc

7 oD

o

/\

304 Satin 316 Satin

Art. No Fitting pipe®| Glass thickness Screw Packing unit @ Art. No Fitting pipe®| Glass thickness Screw Packing unit @
1201.038.304.S| ¢38.1 Depend on the rubber inlay M8*20 4pcs| [1201.038.316.S| ¢38.1 Depend on the rubber inlay M8*20 4pcs
1201.042.304.S| $42.4 Depend on the rubber inlay M8*20 4dpcs| [1201.042.316.S| ¢42.4 Depend on the rubber inlay M8*20 4pcs
1201.048.304.S| ¢48.3 Depend on the rubber inlay M8*20 4pcs| [1201.048.316.S| ¢48.3 Depend on the rubber inlay M8*20 4pcs

Accessories(Bt )

Nylon cover caps for lateral screws >

MOD Diameter | Height Packing unit

g A
y
_— PGM-13 | & 13mm | 4.5mm 8pcs
D) DO | —~
> s O
7
(]
3
= S S
<
é.
S N
C
(@)
o,
(o]
>




Glass Clamp — MOD 1202

Part No. Indicate MOD 1202 Flat E

1202, [ [
‘ I— Surface Finish @

Material

Fitting Pipeg A\ @ -

MOD No.

08
[ r

Eg. 1202.038.304.S I E"’
1202: MOD No. ;21&
038: Fittng Pipe®:38.1 L 48
304: Material 304 SS 63

S: Satin/M: Mirror

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin

Art. No Width| Glass thickness Screw Packing unit S
1202. 000. 304. S| 28mm | Depend on the rubber inlay M8*20 4pcs
316 Satin

Art. No Width| Glass thickness Screw Packing unit @
1202. 000. 316. S| 28mm | Depend on the rubber inlay M8*20 4pcs

Accessories

!\H@ MOD Thread | Length | Packing unit Rubber inlay & Glass
M6*16 M6

16mm 8pcs

Hexagon socket head cap screw &> . ’

MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

l

Single layer glass S Multilayer glass &

Rubber MOD | Glass thickness | Packing unit Rubber MOD | Glass thickness | Packing unit
1202-06 1/4"" (6mm) 8pcs 1202-07 1/4"" (6. 76mm) 8pcs
1202-08 5/16" " (8mm) 8pcs 1202-09 5/16"" (8. 76mm) 8pcs

l 1202-10 3/8"" (10mm) 8pcs 1202-11 3/8"" (10. 76mm) 8pcs




© .
_ 8
(i
LAY, LIRS
o [
16
20
48
63
304 Satin 316 Satin
Art.No |Fittirgpie®| Glass thickness Soren  [Packing wit| 8| | Art.No  |Fittirgpipe®| Glass thickness Screw  |Packing unit| &
202.038.304.S| ¢38.1 Depend on the rubber inlay M8*20 4pcs| [1202.038.316.S5| ¢38.1 Depend on the rubber inlay M8*20 4pcs|
202.042.304.S| $42.4 Depend on the rubber inlay M8*20 4pcs| [1202.042.316.S| ¢42.4 Depend on the rubber inlay M8*20 4pcs|
202.050.304.S| ¢50.8 Depend on the rubber inlay M8*20 4pcs| 1202.050.316.S| ¢50.8 Depend on the rubber inlay M8*20 4pcs|

Accessories

MoD

Length

b -

| security pins ___ IIEEI

Diameter

AQX-22

22mm

$6.0

MOD

¢

Q=pE
- g -

Plastic caps

H

Assembly instruction :

S

PGM-13

¢ 13mm

4. 5mm

4pcs




Glass Clamp — MOD 1204

MOD 1204 Flat
Part No. Indicate

1204 ][]
| I— Surface Finish o
Material
Fitting Pipeg
MOD No.

WU

Eg. 1204.048.304.S

1204: MOD No.

048: Fittng Pipe®:48.3
304: Material 304 SS
S: Satin/M: Mirror

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin @@ & 316  Satin @@ &
Art.No Width Glass thickness Screw | Packing unit Art.No Width Glass thickness Screw | Packing unit
1204. 000. 304. S| 40mm | Depend on the rubber inlay| M8*%20 4pcs 1204. 000. 316. S| 40mm| Depend on the rubber inlay | M8*20 4pcs

Accessories

Hexagon socket countersunk head cap screw @

/(((//((, MOD Thread | Length | Packing unit Rubber inlay & Glass
M6*20 M6 20mm 8pcs

Hexagon socket head cap screw & ‘ ‘

MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

A«-@s
l<

Multilayer glass &
: Rubber MOD | Glass thickness [Packing unit
Single layer glass &
1204-13 1/2"" (12. 76mm)

8pcs
Rubber MOD | Glass thickness | Packing unit
1204-12 1/2"" (12mm) 8pcs

1204-14 9/16" " (13. 52mm) 8pcs

1204-17 5/8"" (16. 76mm) 8pcs

1204-18 [11/16""' (17.52mm) 8pcs




MOD 1204 —-Arc

70

AT -

W R

Art.No Fitting pipe ®| Glass thickness Screw  |Packing unit Art.No Fitting pipe ®| Glass thickness Screw  |Packing unit @
1204. 048.304. S $48.3  |Depend on the rubber inlay| M&*20 dpcs| 1204.048.316.S $48.3  |Depend on the rubber inlay| M&*20 4pcs

Accessories

Assembly instruction :

MOD Length |Diameter| Packing unit

AQX-30 30mm $6.0 4pcs

<=pE
- g -

Plastic caps

MOD 0} H &
PGM-13 13mm 4. 5mm 4pcs




Glass Clamp — MOD 1205

Part No. Indicate

1205 ][]

e

Eg. 1205.038.304.5

1205: MOD No.

048: Fittng Pipe®: 38.1
304: Material 304 SS
S: Satin/M: Mirror

MOD 1205 Flat

Surface Finish
Material
Fitting Pipeg
MOD No.

._30_.‘

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin @@ & 316  Satin @@ &
Art.No Width Glass thickness Screw | Packing unit Art.No Width Glass thickness Screw | Packing unit
1205. 000. 304. S| 30mm | Depend on the rubber inlay | M8*%20 4pcs 1205. 000. 316. S| 30m | Depend on the rubber inlay | M8*20 4pcs

Accessories

A “\,‘ \’ MOD Thread | Length | Packing unit
) M6*16 M6 16mm 8pcs
Hexagon socket head cap screw &

MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber inlay & Glass

® @

Rubber MOD | Glass thickness [|Packing unit
1205-06 1/4"" (6mm) 8pcs
1205-08 5/16"" (8mm) 8pcs
1205-10 3/8"" (10mm) 8pcs
1205-12 1/12"" (12mm) 8pcs

Multilayer glass @

Rubber MOD | Glass thickness [Packing unit
1205-07 1/4"" (6. 76mm) 8pcs
1205-09 5/16"" (8. 76mm) 8pcs
1205-11 3/8"" (10. 76mm) 8pcs
1205-13 1/12"' (12. 76mm)| 8pcs




MOD 1205 —Arc

© ©
4

(=23
9+

TR - TR e
Art. No Fittigpipe ®| Glass thickness Screw |Packing unit @ Art. No Fittirgpipe ®| Glass thickness Screw |Packing unit
1205.038.304.S| ¢38.1 Depend on the rubber inlay MB+<20 4pcs | [1205.038.316.S| ¢38.1 Depend on the rubber inlay Mg*+20
1205.042.304.S| ¢42.4 Depend on the rubber inlay Mg+<20 dpcs | [1205.042.316.S| o¢42.4 Depend on the rubber inlay M8+20
1205.048.304.S| ¢48.3 Depend on the rubber inlay M8*+20 4ocs | [1205.048.316.S| ¢48.3 Depend on the rubber inlay MB+20

§181810

Accessories

@3
i CD‘e
t Assembly instruction :

| security pins___[IIEI

MOD Length |Diameter|Packing unit|

AQX-25 25mm 6.0 4pcs

— g -
Plastic caps
MOD ¢ H S22

PGM-13 13mm 4. 5mm 8pcs




Glass Clamp — MOD 1206

MOD 1206 Flat

Part No. Indicate

1206. ] 1]

‘ |— Surface Finish
Material

Fitting Pipe@
MOD No.

Eg. 1206.038.304.S

1206: MOD No.

038: Fittng Pipe®:38.1
304: Material 304 SS
S: Satin/M: Mirror

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304  Satin @y (S 316  Satin @y (S
Art.No Width Glass thickness Screw | Packing unit Art. No Width Glass thickness Screw | Packing unit
1206. 000. 304. S| 35mm |Depend on the rubber inlay| M8*20 4pcs 1206.000. 316. S| 35m |Depend on the rubber inlay| M8*20 4pcs

Accessories

MOD Thread | Length | Packing unit )
Rubber inlay & Glass
M6*20 M6 20mm 8pcs
Hexagon socket head cap screw & 0 ‘

MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber MOD Glass thickness [Packing unit Rubber MOD Glass thickness |Packing unit
1206-08 5/16" " (8mm) 8pcs 1206-09 5/16"" (8. 76mm) 8pcs
1206-10 3/8"" (10mm) 8pcs 1206-11 3/8"" (10. 76mm) 8pcs
1206-12 1/2"" (12mm) 8pcs 1206-13 [1/12""' (12. 76mm) 8pcs




E

Art.No  |Fittingpipe ®| Glass thickness Screw |Packing wnit| ()| | Art.No  [Fittirgpipe ®| Glass thickness Screw |Packing unit| (2
1206.038.304.S| ¢38.1 Depend on the rubber inlay MB+20 4dpcs| [1206.038.316.S| $38.1 Depend on the rubber inlay| Mg*20 4pcs
1206.042.304.S| ©42.4 Depend on the rubber inlay Me+20 dpcs| [1206.042.316.S| ¢42.4 Depend on the rubber inlay M8*+20 4pcs
1206.048.304.S| ©$48.3 Depend on the rubber inlay MB+20 dpcs| [1206.048.316.S| ¢48.3 Depend on the rubber inlay Me+20 4pcs

Accessories

MOoD

Length

e (-

| security pins___[IIEI

Diameter | Packing unit

AQX-25

25mm

¢6.0 4pcs

MOD

¢

<4=DE
- g -

Plastic caps

H S22

Assembly instruction :

PGM-13

13mm

4. 5mm 8pcs




Glass Clamp — MOD 1207

MOD 1207 Flat

Part No. Indicate

1207. ] [ []

‘ I— Surface Finish
Material

Fitting Pipe@

© ©

MOD No. (
Eg. 1207.033.304.S S
1207: MOD No. - 6
033: Fittng Pipe®:33.7 2
304: Material 304 SS 50

S: Satin/M: Mirror

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin @@ & 316  Satin () &
Art.No Width Glass thickness Screw | Packing unit Art.No Width Glass thickness Screw | Packing unit
1207.000. 304. S| 24m |Depend on the rubber inlay | M8*20 4pcs 1207.000. 316. S| 26mm | Depend on the rubber inlay | M8*%20 4pcs

Accessories

Hexagon socket countersunk head cap screw @

TS MOD | Thread | Length | Packingunit
W(‘(// rea ng cidng unt Rubber inlay & Glass

A C
“ M6*16 M6 16mm 8pcs

Hexagon socket head cap screw S5 ’ ’

MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Single layer glass S Multilayer glass &

Rubber MOD | Glass thickness [Packing unit Rubber MOD | Glass thickness [Packing unit

1207-10 3/8"" (10mm) 8pcs 1207-09 5/16"" (8. 76mm) 8pcs
1207-11 3/8"" (10. 76mm) 8pcs




MOD 1207 -Arc OE

40

© ©

16
20

50

Art.No Fittingpipe ®| Glass thickness Screw |Packing unit
1207.033.304.§| $33.7 Depend on the rubber inlay Me*+20
1207.042.304.S) ¢42.4 Depend on the rubber inlay Mg+20

Art.No Fittingpipe @  Glass thickness Screw |Packing unit
1207.033.316.S| ¢33.7 Depend on the rubber inlay Ms+20
1207.042.316.S| ¢42.4 Depend on the rubber inlay Mg*20

789

789

Accessories

Assembly instruction :

o 9 © ® ®
| <:§;;;>_=, N I~
.. e \\%
Nylon cover caps for lateral screws S
MOD ) H S5

PGM-13 13mm 4. 5mm 8pcs




Glass Clamp — MOD 1208

MOD 1208 Flat

Part No. Indicate

1208. ] ][]

I— Surface Finish @ =)

Material ©

Fitting Pipeg

MOD No. 0
Eg. 1208.042.304.S //‘V//'ﬁ/ 3
1208: MOD No. ‘ L16
042: Fittng Pipe®:42.4 .
304: Material 304 SS 63

S: Satin/M: Mirror

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin @p S5 316  Satin @p S5
Art.No Width Glass thickness Screw | Packing unit Art.No Width Glass thickness Screw | Packing unit
1208. 000. 304. S| 34mm |Depend on the rubber inlay | M8*20 4pcs 1208.000. 316. S| 34mm [Depend on the rubber inlay | M8*¥20 4pcs

Accessories

Single ayerglas: S

l Q(. “ MOD Thread | Length | Packing unit Rubber MOD | Glass thickness [Packing unit
. M6*16| M6 | 16mm 8pcs 1208-02 5/64" " (2mm) 8pcs
Hexagon socket head cap screw S5 1208-03 /8" (3mm) BDGS

MOD | Thread | Length | Packingunit 1208-04 5/32"" (4mm) 8pcs
M8+20 M8 20mm 4pcs 1208-06 1/4"" (6bmm) 8pcs
1208-08 5/16"" (8mm) 8pcs
1208-10 3/8"" (10mm) 8pcs

1208-12 1/2"" (12mm) 8pcs

‘ ' Multilayer glass &

Rubber MOD Glass thickness [|Packing unit

1208-09 5/16"" (8. 76mm) 8pcs

1208-11 3/8"" (10. 76mm) 8pcs

1208-13 1/12" " (12. 76mm) 8pcs




© ©

116
20

Art.No Fittigpipe ®| Glass thickness Screw |Packing unit @ Art.No
1208.042.304.S| $42.4 Depend on the rubber inlay MB*+20 4pcs| |1208.042.316.S
1208.048.304.S| $48.3 Depend on the rubber inlay Mg+20 4pcs| |1208.048.316.S

Fittigpipe ®| Glass thickness Screw |Packing unit
o42.4 Depend on the rubber inlay| Mg*20
$48.3 Depend on the rubber inlay| M8*20

7189

Accessories

i - s Assembly instruction :

E
U
U

MOD Length [Diameter|Packing unit

AQX-22 22mm $6.0 4pcs

4SPE
@

Nylon cover caps for lateral screws

MOD ) H &
PGM-14 | 13.5mm | 5. 1mm 8pcs




Glass Clamp — MOD 1209

Part No. Indicate

1209. ] 11

e

MOD 12009 Flat

Surface Finish
Material

Fitting Pipeg
MOD No.

Eg. 1209.038.304.5

1209: MOD No.

038: Fittng Pipe®:38.1
304: Material 304 SS
S: Satin/M: Mirror

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

304 Satin () & 316  Satin @p S5
Art.No Width Glass thickness Screw | Packing unit Art.No Width Glass thickness Screw | Packing unit
1209. 000. 304. S| 28m | Depend on the rubber inlay | M8*20 4pcs 1209. 000. 316. S| 28m |Depend on the rubber inlay | M8*20 4pcs

Accessories

. MOD Thread | Length | Packing unit
“w?
) M6*16 M6 16mm 8pcs
Hexagon socket head cap screw &
MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber inlay & Glass

- &

Rubber MOD | Glass thickness [|Packing unit
1209-06 1/4"" (6mm) 8pcs
1209-08 5/16"" (8mm) 8pcs
1209-10 3/8"" (10mm) 8pcs
1209-12 1/2"" (12mm) 8pcs

Multilayer glass @

Rubber MOD | Glass thickness [|Packing unit
1209-07 1/4"" (6. 76mm) 8pcs
1209-09 5/16"" (8. 76mm) 8pcs
1209-11 3/8" " (10. 76mm) 8pcs
1209-13 1/12" " (12. 76mm) 8pcs




MOD 1209 ~Arc OE

28 o
foopd L ¥ r———

.16 |
L20
44
57
BT - EENETECUEE e

Art. No Fittigpipe ®| Glass thickness Screw |Packing unit @ Art. No

Fittigpipe ®| Glass thickness Screw |Packing unit @

1209.038.304.S

$38.1

Depend on the rubber inlay

Me+20 4dpcs| [1209.038.316.S| ¢38.1 Depend on the rubber inlay Me+20 4pcs

1209.042.304. 8| ¢42.4

Depend on the rubber inlay

M8+<20 dpcs| [1209.042.316.S| ¢42.4 Depend on the rubber inlay M8+20 4pcs

1209.048.304.8| ¢48.3

Depend on the rubber inlay

Me+20 4dpcs| [1209.048.316.S| ¢48.3 Depend on the rubber inlay M&+20 4pcs

Accessories

Length [Diameter |Packing unit

AQX-22

6.0 4pcs

MOD

Nylon cover caps for lateral screws

¢

4=pE
- @ -

H S

PGM-13

13mm

4. 5mm 8pcs

Assembly instruction :




Glass Clamp — MOD 1210/1211

MOD 1210

Part No. Indicate

1210 ] ][]

=

Surface Finish
Material

000

Eg. 1210.000.304.S

1210: MOD No.

000: 000

304: Material 304 SS
S: Satin/M: Mirror

MOD No.

©

260

60

304 Satin @@ Ss! 316  Satin @@ Ss!
Art.No Width Glass thickness Screw | Packing unit Art.No Width Glass thickness Screw | Packing unit
1210.000. 304. S| 28m |Depend on the rubber inlay | M8*%20 4pcs 1210.000. 316. S| 28m [Depend on the rubber inlay | M8*%20 4pcs

Accessories

g m\/g \’ MOD Thread | Length | Packing unit
M6*16 M6 16mm 8pcs
Hexagon socket head cap screw &

§ % MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber inlay & Glass

@ N

Rubber MOD | Glass thickness [|Packing unit
1210-08 5/16"" (8mm) 8pcs
1210-10 3/8"" (10mm) 8pcs
1210-12 1/2"" (12mm) 8pcs

Multilayer glass &

Rubber MOD | Glass thickness [|Packing unit
1210-09 5/16" " (8. 76mm) 8pcs
1210-11 3/8"" (10. 76mm) 8pcs
1210-13  [1/12"' (12. 76mm) 8pcs




MOD 1211

Art. No Fitting pipe ®

E

Glass thickness Screw

Packing unit

1211.000. 304. S 28m

Depend on the rubber inlay

8|9

MB+20

Art. No Fitting pipe ®

E

Glass thickness Screw

1211.000. 316.§ 28m

Depend on the rubber inlay

Packing unit | (&
MB20 | 4pcs

Nylon cover caps for lateral screws

MOD (0}

H S

a4=PpE

PGM-13 13mm 4. 5mm 8pcs

Accessories
\ St
..

';\F‘ e
« 1d :3
A . g
\ H
Art. No D H Packing unit Art. No D H Packing unit
707.000. 304. S ¢ 35mm 14mm 4pcs 707.000. 316. S ¢ 35mm 14mm 4pcs

BTN >

[:::%
E

D
230
28.5
S

Art. No ) D H |Packing unit Art. No [0) D H |Packing unit
708.042.304. S ©42.4 ¢ 35mm 14mm 4pcs 708.042.316.S $42.4 & 35mm 14mm 4pcs
708.048. 304. S $48.3 ® 35mm 14mm 4pcs 708.048. 316. S $48.3 & 35mm 14mm 4pcs

Assembly instruction :

REStE

@
G




Glass Clamp — MOD 1212/1213

Part No. Indicate

1212 ] ][]

e

Surface Finish
Material

000

Eg. 1212.000.304.S
1212: MOD No.

000: 000

MOD No.

304: Material 304 SS
S: Satin/M: Mirror

MOD 1212

14

304 Satin @@ & 316  Satin @@ &
Art.No Width Glass thickness Screw| Packing unit Art. No Width Glass thickness Screw | Packing unit
1212.000. 304. S| 28m |Depend on the rubber inlay | M8*%20 4pcs 1212.000. 316. S| 28m [Depend on the rubber inlay | M8*%20 4pcs

Accessories

! w\f. \’ MOD | Thread | Length | Packing unit
M6*16 M6 16mm 8pcs
Hexagon socket head cap screw &
MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber inlay & Glass

-

Single layer glass &

Rubber MOD | Glass thickness [Packing unit
1212-08 5/16" " (8mm) 8pcs
1212-10 3/8"" (10mm) 8pcs
1212-12 1/2"" (12mm) 8pcs

Multilayer glass &

Rubber MOD | Glass thickness [Packing unit
1212-09 5/16'" (8. 76mm) 8pcs
1212-11 3/8"" (10. 76mm) 8pcs
1212-13  [1/12" " (12. 76mm) 8pcs




MOD 1213

o | Art.No Fitting pipe ®| Glass thickness Screw |Packing unit

g 1213.000.304. S Depend on the rubber inlay
- ©
0 :4 gy 1 [ %
j/ o Art.No Fitting pipe ®| Glass thickness Screw |Packing unit
L2
L 60 | 1213.000. 316. §| 28m Depend on the rubber inlay M&*+20 4pcs

AaEsEeTEs o~ - Nylon cover caps for lateral screws
o CHD= ] o 0 H @
- —e— PGM-13 13mm 4. 5mm 8pcs

' i
=% 4

230

\& B
Art. No Packing unit Art. No D H Packing unit
707.000. 304. S ¢ 35mm 14mm 4pcs 707.000. 316. S ¢ 35mm 14mm 4pcs

[:::%
E

Art. No Packing unit Art.No [0) D H |Packing unit
708.042.304. S ©42.4 ¢ 35mm 14mm 4pcs 708.042.316.S $42.4 ® 35mm 14mm 4pcs
708.048.304. S ©48.3 ¢ 35mm 14mm 4pcs 708.048.316.S $48.3 ¢ 35mm 14mm 4pcs

Assembly instruction :

| —

o]
H

| —




Glass Connectors-MOD 1214/1215

;2)

b 21
76
107

MOD Angle | Material | Satin |[Mirror _

Art. No W For Glass THK Screw | (> Art. No W For Glass THK Screw | (&
1214.180.304. S | 45mm | Depends on rubber | Mé6*16 | 2pcs 1214.180. 316.S | 45mm | Depends on rubber | M6*16 | 2pcs

Accessories

A < MoD d L @
“7 M6*16 M6 16mm 4pcs
Rubber Inlay ' .
No. For Glass THK S5
W 1214-06 | 1/4"" (6mm) 8pcs
1214-08 5/16"" (8MM) 8pcs
1214-10 3/8" " (10MM) 8pcs
1214-12 1/2"" (12mm) 8pcs
No. For Glass THK S5
W 1214-09 5/16"" (8. T6MM) 8pcs
1214-11 3/8"" (10. 76MM) 8pcs
I 1214-13 1/12" " (12. 76MM) 8pcs




MOD 1215-90°

28
3
304 Satin 316 Satin
Art. No W | For Glass THK Screw (S Art. No ] For Glass THK Screw (S

1215. 090. 304. S | 45mm | Depends on rubber M&*30 2pcs 1215. 090. 316. S | 45mm | Depends on rubber M6&*30 2pcs

Accessories

b -

M6*30 M6 30mm 4pcs AQX-22 6.0 22mm 4pcs

O ED
N .

Plastic caps

MOD o H S5
PGM-13 | ¢ 13mm 4. 5mm 4pcs




